AVIANC

INDUSTRIAL ELECTRONIC EQUIPMENT ENCLOSURE

T FIRHEIINT

m
Z
M
—
o,
N
-
AJ
m




P UMAY EES

Provide you with one-stop electronic equipment enclosure solutions,

Make your ideas come true.
NIGRE— B FIRBINTIRT =,

ARGV SIS N



PUMAYIEES CONTENTS

PUMAY is an innovative and professional service provider for electronic and
industrial applications. We manufacture and retail a wide range of high quality
and customized standardized enclosures.

PUMAY ,One-stop industrial electronics equipment Enclosure Maker. Provide
your product an awesome Case.

BLLTEERIVERATE—REFET W T B FREINTRSE., EINSHFREMNER
NEFRERENNS, FERSHRHEHRIBRLE, RESFMIZAIER. IEFRMS
MSREMAEFRRELEF T B FREIINS.

s, NIRM—UAT B FIREINTERSE, AL B,



Company Profile PUMAY

\—= kﬁ/\ electronic enclosure manu facture
/NS J 1

Cooperation Process

SRR =S

Processing Technology i1 TTZ

e Machine Process HLin L& H L&

e Mount PCB Pressi Riveting Process [ 5% PCB # L4 L&
e Finish Treatment process 7 [ AL HE T2

e Logo Print Process #h5¢E1 777 20

Tube Extrusion Enclosure
I st

S =

Split Extrusion Enclosure
PATUIRERINS

% 19inch Rackmount chassis

' 19BEHENAE




PUMAYE

i Instrument Chassis
m W EE]

Aluminum Handle
—

e wosns

A\ >

7’ IP68 Enclosure
06" possis




>

PUMAYE

Normal Item Order Process

BRI R

Public model material more than 1000, customized specific details please consult the regional customer service.

PREIAEE 500 3K, EFIEMFBESIXEER.

04 08
AR =

A
/ QUOTATION \ PROGRAM \ PRODUCTION
03 / 07
PR Wi

02

01
ZiTER

CONTRACT

[E:2Ch]

INQUIRY

DESIGN APPTOVAL

Own Mold Order Process
ZEREI] KRR

Special profile pressure mold, stamping mold, general mold, the annual order to reach the standard, can refund mold fees.

TREMIERE, HFERE, BARE.

02 04 08
EiA

PRODUCTION

Eidiy FEhh kI

QUOTATION PROGRAM

01 03 05

i 25 14 ZiGE FERh B

DESIGN APPTOVAL

SO A

INQUIRY CONTRACT




MOUNT PCB PRESSI RIVETING PROCESS EBlIE&ERFEHENTS

PUMAYI

g

3

BFEDME

Blind holes pressure riveting stud

B FLEME

Through-holes pressure riveting stud

1B EFLEIME (EREE>3mm)
Countersunk blind holes pressure

riveting stud (panel thickness>3mm)

[EHMRE

Pressure riveting nut

[ESRET

Pressure riveting screw

1BSL EHMRET EREE > 3mm)

Countersunk riveting screws

(panel thickness>3mm)

BFLVEIMREE

Blind holes pressure riveting nut
column

FAARBRaRET

Captive Panel Screws

i
Copper pillar

>



PUMAYEE

Bending Punching Laser Cutting CNC Milling
s 1RER HOEE! =tk



PUMAYE

Optional anodizing color for customized aluminum Product

EFERERAREERA S

Customized enclosure can be changed according to your requirements, the surface treatment
please indicate is sandblasting or drawing

ERESMEALIREEHEXRNE, RELEE TR &R

Brush Silver Brush Black Brush Light Gray Brush Dark Gray Brush Dark Blue

Finish Treatment

\ f}'\':‘? it

Brush Blue Brush Gold Brush Red Brush Green Brush Champagne

Sandblast Silver ~ Sandblast Black  Sandblast Dark Gray Sandblast Gray Sandblast Dark Blue

Sandblast Blue Sandblast Gold Sandblast Red Sandblast Green  Sandblast Champagne

F: BTERIERE, AEM~RNEE. SR RSFRIYEHNEE, BRI E!
Note: Due to printing reasons, the color of this atlas products, textures and products may appear chromatic aberration, please

take the product in kind to prevail!



Optional Logo Print for Aluminum box

EAINTEIFIT

Conventional printing methods are screen printing, laser, UV marking, engraving

EMENFHNELED, BE, uv #TiR, BEZ .

UV PRINTING
UVSTED

PUMAY ey

AES Worg
2] ENRIS WG
Colorful color UV printing Gradient color

- AIENRIS X FHEIR

Can print complex text and patterns

- AT LAENRY B B A AR RO 4R EE

Can be printed with the fineness of a picture

- REEERE

No colar restrlctions

SCULPTURE
A%

2 HASES BRI F
Pattern engraving Text engraving

- zIESEk, FmesSHEIRER
Oxidized after engraving, same color as panelCan engrave and pattern on uneven su lfaces

- XFEZREIFRER
Strong text pattern

PUMAYE

>



PUMAYE

>

Silk Printong
L FIENRY

BB L2 R ENR]
Monochrome screen printing

Z B LERENR)
Multi-color screen printing

- (XA ENRIFRE—SETE

Cannot print on uneven surfaces

- FiE. BERFIFR

The fonts and patterns have a three-dimensional effect

- AlEEe%E, FREAERZSHES®

Many color choices, and multiple colors can be printed on same plate



Main Product

_‘_—I—I— 2 D
Pumay Enclosure is engaged in R & D and production of various specifications of aluminum profile
Enclosure, sheet metal shell, integrated instrument cabinet, 19-inch standard industrial cabinet,

audio-visual system, HIFI power amplifier Enclosure , aluminum panel, aluminum parts and other
equipment Enclosure products.

Pumay Enclosure, the main application of aluminum alloy material, material environmental protection.
Strong material, beautiful appearance, light weight and excellent heat dissipation. Widely used in
instruments, instrumentation, electronics, communications, automation, sensors, smart cards, industrial
control, precision machinery, Al, medical, beauty, industrial control, security and other industries. It is an
ideal shell for high-grade instruments and meters.

Pumay provides you with one-stop service, high-quality electronic equipment Chassis. Set product drawing
design, mold customization (profile extrusion die, stamping die, injection mold) , machining (such as size
changes, box panel openings), surface treatment (drawing and sandblasting) , color (oxidation, spray,

plating) , logo printing (laser marking, screen printing, UV print ) and other one-stop service, so that your
product appearance more beautiful, more solid structure, higher added value.

ETIN B R EFSTHSHNEEMINS, RER, ERIVEROGERNAE. 19 RIRETWE, MITEER5%,

HIFI ThiRsh7, $EEMR, $BEHFREINTT M

PUMAY 7k, ENAEEEME, HMEMR. MREE, IMZEN, EEREEMRE. HZNATIGE. &R B
. IB(E. Bofb. BREE. EeeR. Tzl BETM. Al ATERR. By, BE. TR KhEmll. Y

B GRAVIRAETSIR.

RN —UATUIRSS, MENRFIREIT. Ermit=BRiRT, REEH (BMFEE, HES, F88) |

NI (ORI, SRENRFFSL)  REGE (RIELF0EERD) |, e (B, BOR, B, #L) , logoElF (&L

JeHTHR, £2E0, ) FuhEIRSS, EEMFRINPESEN, SEERE, MIMEES.



Tube Extrusion Enclosure

—RZCERELI IS

r UMAYEES

PUMAY ,One-stop industrial electronics equipment Enclosure Maker,
Provide your product an awesome Case

Tube Extrusion aluminum enclosure
Composition: It is composed of shell, front and rear baffle and screw.

Style: wall hanging style, plane style
Advantages: inside the shell is a PCB slot, which is convenient to fix the circuit board and its

components. Easy to install, light and portable, beautiful appearance. And good heat
dissipation.

—{FU RSS!
X : HBFR+RIRERHIRL =SB,
=t B EEal

FURRERE PCB R1E, HEEERIRRNAERE TG K5E, RREE, SMIEm. BEen



PAOO1 46.2*29.6-Length  Unit: mm

Structure:Tube Extrusion Enclosure

Product Size Material | Thickness |Quantity
Box 46.2*29.6 | 6063AL 15 1
End Panel| 46.2*29.6 | 5052AL | 12-15 2
Screw M3 iron 6 8
PA002 45*19-Length  Unit: mm

Structure:Tube Extrusion Enclosure

P UMAY EES

N

M3*6 (ER

4

Product Size Material | Thickness |Quantity
Box 45%19 6063AL 1.9 1
End Panel| 45*19 5052AL | 12-15 2
Screw M3 iron 6 8
PA003 57*28-Length  Unit: mm

57
Structure:Tube Extrusion Enclosure 54,6
49,5 l
T
Product Size Material | Thickness |Quantity 771’53/“ Ug
Box 57+28 | 6063AL | 14 1 0 | o
=} 0 NN
End Panel| 57%*28 | 5052AL | 12-15 2 N N . N
Screw M3 iron 6 8 <) o
< -
PA004 55*19-Length  Unit: mm
PUMAYEE
Structure:Tube Extrusion Enclosure 55
5.4
Product Size Material | Thickness |Quantity ’g\J ]J U%

Box 5519 | 6063AL 14 1 ¢ o M2.5*8 / o
End Panel| 55419 | 5052AL | 1215 | 2 g = 2.6 1 =
Screw M2.5 iron 6 8 é 3 g

— JUUUuUuUuUuUu
53
PAOO5 58*24-Length  Unit: mm
57,7
Structure:Tube Extrusion Enclosure 54,7
52,2
Product Size Material | Thickness |Quantity
Box 524 | 6063AL | 13 1 . eSS M2.5"8 | %2
I h I
End Panel| 5824 | 5052AL | 12-15 2 [ d
Screw M2.5 iron 6 4 r <t _]
48,5
50,5




P UMAY EES

PAOO6 61*22.4-Length  Unit: mm

Structure:Tube Extrusion Enclosure 54,4
List:

Product Size Material | Thickness |Quantity

- © <
~ o ;*'\ N
Box 61224 | 6063AL 13 1 ) ~ N
End Panel| 61+224 |5052AL | 1215 | 2 3
Screw M2.5 iron 6 4
58
PA007 63*37-Length  Unit: mm
56,2
54,3 ‘
Structure:Tube Extrusion Enclosure XWM —eae
et N fa
List: \Mgm
Product Size Material | Thickness |Quantity ©w LQoo
S AT
Box 63437 | 6063AL | 1.2 1 o @
End Panel| 63*37 | 5052AL | 12-15 2 L L
Screw M3 iron 6 8 ) a j\g
- ——— — — — —
ﬁl - 56,1 |
60,3
63,3
PA008 64*23.5-Length  Unit: mm
_ 64,2
Structure:Tube Extrusion Enclosure 60,2
List: 584
Product Size Material | Thickness |Quantity ™ S M2.5*6 Lj Ié —
Box 64*23.5 | 6063AL 13 1 LO (O
End Panel| 64*235 | 5052AL | 12-15 2 E; g} ~Ql
Screw M2.5 iron 6 8 & :-" A
PAOO9 64*25.5-Length  Unit: mm
Structure:Tube Extrusion Enclosure 64
. 60,6
List:
2 Product Size Material | Thickness |Quantity g\/ M2 558
Box | 647255 |6063AL | 11 1 | 2.2 |
Yo} N
End Panel| 64*255 |5052AL | 1215 2 N L L1 di=
Screw M2.5 iron 6 8 o AR
58,6
60,6
PAO10 66*27-Length  Unit: mm
Structure:Tube Extrusion Enclosure 6%62
List: | 57.9 |
U T
Product Size Material | Thickness |Quantity é\p L4 MZM
Box 6627 | 6063AL| 14 1 r 93 |ow
AN
End Panel| 66*27 | 5052AL | 12-15 2 2 QYN
Screw M2.5 iron 6 8 C o




PAO11 66.2*27.5-Length  Unit: mm

P UMAY EES

66,2
Structure:Tube Extrusion Enclosure 60,2
. 58,2
List:
Product Size Material | Thickness |Quantity
Box 66.2*27.5 | 6063AL 2.5 1 o~
End Panel| 66.2%27.5 | 5052AL | 12-15 2 0| eNg
<
Screw M2.5 iron 6 8 N T
= J
PAO12 66.8*29.6-Length  Unit: mm
51
. . 443
Structure:Tube Extrusion Enclosure
List: oy
. 7
S 1,2
Product Size Material | Thickness |Quantity M2_5:8/
00| C\N| ©
Box | 66.8%29.6 | 6063AL 1.2 1 Q R 2
End Panel| 66.8%29.6 | 5052AL | 12-15 2 : o N
M2.5 i © ti
Screw iron 6 8 ~ 5
48,6
66,8
PAO13 70*24-Length  Unit: mm
) 61
Structure:Tube Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity é M2.5 1,5 3
Box 7024 | 6063AL| 15 1 SN
End Panel| 70%24 | 5052AL | 12-15 2 /? =
Screw M2.5 iron 6 8 =
2-2.0
70
PAO14 43.6*13-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: 43.6
Product Size Material | Thickness |Quantity
M2*4 (
Box 43.6*13 | 6063AL 1 1 f\ E 2o
End Panel| 43.6*13 | 5052AL | 12-15 2 %6
Screw M2 iron 6 8 37,8
PAO15 40.5*14-Length  Unit: mm
Structure:Tube Extrusion Enclosure ) 405
List: M2.5*8 ] 27
Product Size Material | Thickness |Quantity °
Box 40.5*14 | 6063AL 1/3 1 Lo -
End Panel| 405¢14 | 5052AL | 1215 | 2 = ™ =
Screw M2.5 iron 6 8
28,2




P UMAY EES

PAO16 74*29-Length  Unit: mm

74,6
Structure:Tube Extrusion Enclosure 70.4
List: ‘ 68 ‘
Product Size Material | Thickness |Quantity éu W
Box 7429 | 6063AL | 1.8 1 < } o
N| N
End Panel| 74+29 |5052AL | 12-15 2 & Y
—
Screw M2.5 iron 6 8 ~
O
70,4
PAO17 76*36-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: 151
‘ 1445 o
Product Size Material | Thickness |Quantity : d o
Box 179*28.5 | 6063AL 2 1 o | R
End Panel| 151%28.5 | 5052AL | 12-15 2 ’ | ? 1o N ‘
Screw M3 iron 6 8
PA018 80*23-Length  Unit: mm
Structure:Tube Extrusion Enclosure 61
List: Q! 1 d s
Product Size Material | Thickness |Quantity 8 Q
Box 80%23 | 6063AL 15 1 i %E
End Panel| 80*23 |5052AL | 12-15 2 b
Screw M2.5 iron 6
8 65
80

PA019 80*35-Length  Unit: mm

Structure:Tube Extrusion Enclosure 80.9
. 66.4
List:
~ M2.5*8
Product Size Material | Thickness |Quantity
Box | 80*35 |6063AL| 13 1 L ol = J
End Panel| 8035 | 5052AL | 1215 | 2 7 o & 7 bj
Screw M2.5 iron 6 8 = oy :‘ r
76.5
77.4

PA020 80*45-Length  Unit: mm

Structure:Tube Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity

Box 80*45 6063AL 1.6 1

End Panel| 80*45 | 5052AL | 12-15 2

Screw M3 iron 6 8




82.8*28.8-Length

P UMAY EES

150*39-Length

PA023 84*28-Length

-~

PA024 90*35-Length

-

PA025 97*40.5-Length

s

Unit: mm
Structure:Tube Extrusion Enclosure 5735.2
List: 75.8
Product Size Material | Thickness |Quantity M2 58
Box 82.8*28.8 | 6063AL 15 1 o] ||
End Panel| 82.8+28.8 | 5052AL | 12-15 | 2 % NP
Screw M2.5 iron 6 8 § P
772 2
Unit: mm
Structure:Tube Extrusion Enclosure
List: -
44,54
Product Size Material | Thickness |Quantity -
Box 150*39 | 6063AL 2 1 3 .
|
End Panel| 120%39 | 5052AL | 12-15 2 *7
Screw M2.5 iron 6 8
Unit: mm
Structure:Tube Extrusion Enclosure 84
. 80
List: 77
ul
Product Size Material | Thickness |Quantity M3*8 5%
Box 84*28 6063AL 2 1 § g
End Panel| 84*28 | 5052AL | 12-15 2
Screw M3 iron 6 8 >y
80
Unit: mm
90
) . 76,2
Structure:Tube Extrusion Enclosure 79
List: | J
o ENT—
2,9 i
Product Size Material | Thickness |Quantity
A O
Box 90%35 | 6063AL | 2.8 1 X <
End Panel| 90*35 |5052AL | 12-15 2
Screw M3 iron 6 8 =
80
Unit: mm
77
Structure:Tube Extrusion Enclosure 70
List: 0 f
2 q
Product Size Material | Thickness |Quantity
Box 97*40.5 | 6063AL 2 1 g o ©
o
End Panel| 97%40.5 |5052AL | 12-15 2 s
Screw M3 iron 6 8 %
: =
70 2




P UMAYEES

PA026 104*28-Length  Unit: mm
Structure:Tube Extrusion Enclosure 824
. 76,4
List: 754
[ ' I |
Product Size Material | Thickness |Quantity M 1.5 Lé
Box 104*28 | 6063AL 15 1 L Relgl
< —
End Panel| 104*28 | 5052AL | 12-15 2 | % N NI
Screw M3 iron 6 8 e :
104.4 ‘
PA027 108*26-Length  Unit: mm
‘ 108
Structure:Tube Extrusion Enclosure 105
. 99
List: 98,3
Product Size Material | Thickness |Quantity
) Box 108*26 | 6063AL 15 1 éJ «© *8 T
4 & @) N g S
End Panel| 108*26 | 5052AL | 12-15 2 %ﬁ ~ j
p Screw M3 iron 6 8 Q—Z‘
PA027-b 108*26-Length  Unit: mm
Structure:Tube Extrusion Enclosure 99
List: | .
Product Size Material | Thickness |Quantity Lj cx
1.5 =
Box 108*26 | 6063AL 15 1 i
o)
End Panel| 108*26 |5052AL | 12-15 2 ¢°{
Screw M3 iron 6 8
95
99
108
PA028 116*53-Length  Unit: mm
96
Structure:Tube Extrusion Enclosure 86
List: N -
Product Size Material | Thickness |Quantity
Box 116*53 | 6063AL 1.6 1 g 5 %
End Panel| 116*53 | 5052AL | 12-15 2 i‘{
S M3 i
crew iron 6 8 i R I
| 116 |
PA029 129*29-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: 104
99
Product Size Material | Thickness |Quantity =
M3*8 4 ~
N Box 129*29 | 6063AL 2 1 ! 8 gg'
- 4
Pl End Panel| 129*29 | 5052AL | 12-15 2 r_J [ {2 %
\7 ) S, : ‘ \ 97,6 | !
Screw M3 iron 6 8 129




P UMAYEES

PAO30 143*31-Length  Unit: mm

Structure:Tube Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity

Box 143*31 6063AL 2.2 1

End Panel| 143*31 |5052AL | 12-15 2

Screw M3 iron 6 8

PAO31 155*32-Length  Unit: mm

Structure:Tube Extrusion Enclosure

List: gig
Product Size Material | Thickness |Quantity | 130.9 |
Box 155¢32 | 6063AL 2 1 " \M3*8 w 3
o
End Panel| 155*32 | 5052AL | 12-15 2 & N >
Screw M3 iron 6 8 : f ,éL
155,5

PA032 200*120-Length  Unit: mm

PUMAYEE]
Structure:Tube Extrusion Enclosure
List: =
Product Size Material | Thickness |Quantity 26 i
Box | 2004120 | 6063AL | 258 1 sl i o 4
End Panel| 2007120 | 5052AL | 12-15 | 2 . 1 ’
Screw M3 iron 6 8 : 1942 |
j’j 494 h’%“;j 704 Ao, 494 ;
I ¥
PAO33 35*28-Length  Unit: mm
28
3
. . 19.4
Structure:Tube Extrusion Enclosure
. Ry
List: M3*8 o [
o a 1
Product Size Material | Thickness |Quantity ﬁ {
Box 35%28 6063AL 2.5 1 J _5_[
o
End Panel| 35%28 | 5052AL | 12-15 2 5 RESIE:
Screw M3 iron 6 8 A
oy
23.5
PA0O34 40*25-Length  Unit: mm
. R3
Structure:Tube Extrusion Enclosure ~
. FSRI =
) \ List: #2.5 p45 © e m:d B85
B . . o . L) <t
Product Size Material | Thickness |Quantity| | 35 P 315 o o
Box 4025 | 6063AL | 18 ] i*.ﬁ o
End Panel| 40*25 |5052AL | 12-15 2 =
Screw M3 iron 6 8 g 2,75
345
40




P UMAY EES

PAO35 34*19-Length  Unit: mm

Structure:Tube Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity

. Box 3419 | 6063AL| 15 1
- End Panel| 34*19 | 5052AL | 12-15 2

Screw M2.5 iron 6 8

PA036 38*29-Length  Unit: mm

38
. 1 M3*8
Structure:Tube Extrusion Enclosure 1%
List: o
N
Product Size Material | Thickness |Quantity
5 Box 3829 | 6063AL 15 1 1,5 w v
Y 7 [ HE=]
X / End Panel| 38429 |5052AL | 1215 | 2 1,5 N
- Screw M3 iron 6 8 P
A\ N
L'—N;

PA037 42*23-Length  Unit: mm

. 1.7
Structure:Tube Extrusion Enclosure 0.1
List: | 3.8 |
Product Size Material | Thickness |Quantit @ it
Y . M2*8
Box 42%23 | 6063AL | 08 1
End Panel| 42%23 |5052AL | 12-15 2 N
Screw M2 iron 6 8 ..—# ’\3
PAO038 43*14-Length  Unit:mm
Structure:Tube Extrusion Enclosure 8
List: 8.1
38
Product Size Material | Thickness |Quantity WM
Box 43*14 6063AL 1.5 1 &
End Panel| 43*14 5052AL | 12-15 2 1«, M2.5*8 [ < :
Screw M2.5 iron 6 8 8/1 “ = I “
L5
PA0O39 44*23-Length  Unit: mm
44
. . 41,5
Structure:Tube Extrusion Enclosure
List: M2 * ﬂ
Product Size Material | Thickness |Quantity J 1,9 o
Box 44+23 | 6063AL | 125 1 M 5 19 ] o
End Panel| 40%25 | 5052AL | 12-15 2 (Ei ;)
Screw M3 iron 6 8 31 378
40,6




PA0O40 44*25-Length

Unit: mm

P UMAYEES

4.5
. 4.5
Structure:Tube Extrusion Enclosure L3 40.5
. 38.8
List: | |
S
) P Si ; ; i M2*8 7
/z roduct ize Material | Thickness |Quantity g d
. Box 44+25 | 6063AL 1.2 1
» <H b~
/ End Panel| 44*25 5052AL | 12-15 2 S g%
. Screw M2 iron 6 8
é 3
J
PA0O41 51*21-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: 4-R2.5 4-21.6 :
N |
Product Size Material | Thickness |Quantity ? /ég 45'4i L%
< \ W oof
Box 51%21 | 6063AL 1 1 E Hne I 8-FR J] S
AN e
End Panel| 51+#21 | 5052AL | 12-15 2 5 \ f
Screw M3 iron 6 8 l : 44;2 ‘
48
S1
PA042 45*28-Length  Unit: mm
45
) 40.5
Structure:Tube Extrusion Enclosure 38.6
List: - N
258  1H--
Product Size Material | Thickness |Quantity
. Box 45%28 6063AL 1.5 1 =
End Panel| 45+*28 | 5052AL | 12-15 > = S
Screw M2.5 iron 6 8 . L
\U F\SJ
4.5
PA043 48*33-Length  Unit: mm
S Tube E ion Encl ‘ s =
tructure:Tube Extrusion Enclosure
! o I
Ist: =
} A
Product Size Material | Thickness |Quantity 40
Box 48*33 6063AL 13 1 '\J N 0 |
~ o [
End Panel| 48+33 | 5052AL | 12-15 2 2 42 ~ N
M3 i ~
Screw iron 6 8 f 1 1,3 ‘
e}
40 |
PA044 50*40-Length  Unit: mm
o

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 50*40 6063AL 2.5 1
End Panel| 50%*40 | 5052AL | 12-15 2
y Screw M3 iron 6 8

43.6

33.6
40




PAO45 50*44-Length

PA046 138*90-Length
PUMAYEES

7

PA047 52*20-Length

B

PA048 52*22-Length

"sf

PA049 52*52-Length

v

Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 50*44 6063AL 2 1
End Panel| 52%20 |5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

P UMAY EES

List:
Product Size Material | Thickness |Quantity
Box 138*90 | 6063AL 24 1
End Panel| 138*90 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 52%20 6063AL 24 1
End Panel| 52*20 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 52*%2Q 6063AL 1.2 1
End Panel| 52+22 | 5052AL | 12-15 2
Screw M2.5 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 52*52 6063AL 15 1
End Panel| 52*52 | 5052AL | 12-15 2
Screw M2.5 iron 6 8

10

50 8—M3 AL
%\J 44 /ﬁ
46
o «
42,1 39
9 o
S [ Ai
8 14
138
il 118,5 \Z%
1,8 2.2
129,8 ~ I
' o ~ 1
23,2 C 5‘3&3{4#8
P4 ]
133,2
5
52
47,2
47
>
24 M2 e ol
< o
| o _ = 2
48,6
52
44
43,6
Kcy MZﬁ*j\,g;l_ ©
[ 1.2 - o
K Z
52

1.5

445
7




PAO50 53*26-Length

PAO51

PAO53 55*15-Length

PA0O54 52*26-Length

53.4*27.5-Length

Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 53*26 6063AL 1.2 1
End Panel| 52%20 |5052AL | 12-15 2
Screw M2 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box | 53.4+27.5 | 6063AL | 1.7 1
End Panel| 53.4*27.5 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 54*54 6063AL 1.8 1
End Panel| 54*54 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 55%15 6063AL 1.7 1
End Panel| 55%15 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 52%26 6063AL 1.5 1
End Panel| 52%26 | 5052AL | 12-15 2
Screw M2 iron 6 8

11

P UMAY EES

53,5

51,1

|24

E

-

. L
‘Wﬁ

19,3

26

el

51,1

53,4

48,2

n

21,9

22,2
27,5

47,8

54,3

50,7

>

1.8

48,3
50,7

54,3

55,4

53

51

11
2
58

15

474

51,4

52

49
43.6

&S

23

M2*8 /

(e
i

17.6
2




P UMAY EES

PAO55 56*22-Length  Unit: mm

56
Structure:Tube Extrusion Enclosure 2
List: ;
Product Size Material | Thickness |Quantity S\J $ M2*8 l@"
Box 56%22 | 6063AL 2 1 J
End Panel| 56%*22 | 5052AL | 12-15 2 - =y
Screw M2 iron 6 8 &1“‘ -
X - —
PA0O56 57*24-Length  Unit: mm
51
Structure:Tube Extrusion Enclosure 51
List:
M\ /3!
Product Size Material | Thickness |Quantity
Box 57*24 6063AL 1.6 1 L8 oo
=R~ |
o End Panel| 57%24 | 5052AL | 1.2-1. ] N
p nS ane s | 12415 | 2 N M2.5%8 L
- crew . iron 6 8
" At B
5.4
PAO57 61*17-Length  Unit: mm
61,2
Structure:Tube Extrusion Enclosure 55.8
List: 53 16
Product Size Material | Thickness |Quantity I ( ©
Lo T M2*4 A ©)
Box 61*17 | 6063AL 1.8 1 #— s C s e
End Panel| 61*17 | 5052AL | 12-15 2 N 4
Screw M2 iron 6 8 4,d 1.2
1.8 4,3
57,6
PA0O58 58*25-Length  Unit: mm
Structure:Tube Extrusion Enclosure gg';
List:
-
Product Size Material | Thickness |Quantity
Box 5825 | 6063AL| 15 1 N &
End Panel| 58*25 |5052AL | 12-15 2 C M2.5*8 E“
Screw M2.5 iron 6 8 éﬁ S : )L\
55,6 ﬁ
PA0O59 60*13-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: 61
52
Product Size Material | Thickness |Quantity
Box 60%13 6063AL 1.8 1 " g e
End Panel| 60+13 [ 5052AL | 12-15 | 2 o/
Screw M2 iron 6 8

12



P UMAYEES

PA060 60*20-Length  Unit: mm

Structure:Tube Extrusion Enclosure
60

List: 558
52,6
Product Size Material | Thickness |Quantity [ |
Y, r)
Box * 6063AL E
6020 13 1 o] 10 ya i
End Panel| 60*20 | 5052AL | 12-15 2 2 ? [
Screw M2.5 iron 6 8 L 9
TN N

PA061 60*33-Length  Unit: mm

60,2
_ 48,8 .
Structure:Tube Extrusion Enclosure 352 MoTE
|
List: - T
. A 3
Product Size Material | Thickness |Quantity g
Box 60*33 | 6063AL| 15 1 35 |] [ e
- ] 2,3 gnm
End Panel| 60*33 | 5052AL | 12-15 2 =N =
Screw M3 iron 6 8 [ > 1.4 o
é4 <t 1 ),
\ 49
53
PA062 60*43-Length  Unit: mm
60
52 8_ 4—p2.5
Structure:Tube Extrusion Enclosure
List: T
el
Product Size Material | Thickness |Quantity 54,5 o
Box 60*43 | 6063AL 1.7 1 o | §
o N
End Panel| 6043 | 5052AL | 12-15 2 «
Screw M3 iron 6 8 1,9
2 £
n \ | r\gfj
3.4 56,4
PA063 60*25-Length  Unit: mm
Structure:Tube Extrusion Enclosure 59,4
. 57
List:
Product Size Material | Thickness |Quantity fMZifi 2
Box 60*25 | 6063AL 1.2 1 1.2 RALSIR
<] | <
End Panel| 60*25 | 5052AL | 12-15 2 L d e
Screw M2 iron 6 8 g o
57
PA064 63*32.5-Length  Unit: mm
48
Structure:Tube Extrusion Enclosure 4
List: o e D)
Product Size Material | Thickness |Quantity
Box 63*325 | 6063AL 3 1 (LS,"
End Panel| 63*32.5 |5052AL | 12-15 2 N ] ®
Screw M3 iron 6 8 Al l\g
1
63 25

13



P UMAY EES

PAO65 63*32.6-Length  Unit: mm

62,5
Structure:Tube Extrusion Enclosure 55,2’; M2 5%
List: 55,5 |
|
Product Size Material | Thickness |Quantity /|
Box 63*32.6 | 6063AL | 1.8 1 1.8
©| o o
End Panel| 63*326 | 5052AL | 12-15 | 2 0| RE NS
Screw M3 iron 6 8 I a 1,8
PA066 65*20-Length  Unit: mm
. 65
Structure:Tube Extrusion Enclosure 81
List: 58,6
Product Size Material | Thickness |Quantity 9// . ; N
/ Box | 6520 |6063AL| 12 1 Nl
1,2 &S
End Panel| 65*20 5052AL | 12-15 2 *jﬁ L4 ol -
Screw M2.5 iron 6 8 iliﬁrw Ll
58,6
PA067 66*25-Length  Unit: mm
. 65,8
Structure:Tube Extrusion Enclosure 63.1
List:
Product Size Material | Thickness |Quantity F:\gs\MZ:B 2,%
i Box 6625 | 6063AL 1 1 e
2 -/ End Panel| 66%25 | 5052AL | 12-15 2 = ol o N
Screw M2 iron 6 8 \ & 3-' é/
60,5
Unit: mm
64,7
. 57
Structure:Tube Extrusion Enclosure 425
N \
List: e
N
Product Size Material | Thickness |Quantity
~ [ce]ep]
Box 65¢31 | 6063AL| 15 1|« ~l
N 1,5 N
End Panel| 65*31 | 5052AL | 12-15 2 *
- 7% q
Screw M2.5 iron 6 8 S/ % ] z FS -
56,5
58,4
PA0O69 66*32-Length  Unit: mm
66
Structure:Tube Extrusion Enclosure 5329

List:

— Product Size Material | Thickness |Quantity
> Box 6632 | 6063AL | 15 1 2,3
)
4‘
a

29
32

End Panel| 66*32 | 5052AL | 12-15 2

22,2

Screw M3 iron 6 8 15

14



PAO70 66*43-Length

67.5*24-Length

PAO72 68*43-Length

PAO73 204*54-Length

PA0O74 69*24-Length

Unit: mm

Structure:Tube Extrusion Enclosure

P UMAYEES

66

58

. [0 = -
List: Mz_sj/y i
Product Size Material | Thickness |Quantity 60
Box 66*43 6063AL 17 1 g gg
End Panel| 66*43 | 5052AL | 12-15 2 3 ”
Screw M2.5 iron 6 8 1.7 1, 3[}3
] ™
n <t Iy
Unit: mm
. 67.4
Structure:Tube Extrusion Enclosure 62.9
List: g}g
Product Size Material | Thickness |Quantity 1
Box 67.5%24 | 6063AL 15 1 ,sx <
n]z 5*8 197‘ -
End Panel| 67.5+24 | 5052AL | 1215 | 2 fﬁ N9
Screw M2.5 iron 6 8 > 5
57.4
Unit: mm
Structure:Tube Extrusion Enclosure 68 62
List: = | o —{
Product Size Material | Thickness |Quantity
Box 68*43 6063AL 17 1 3 8:.,,
End Panel| 68*43 | 5052AL | 12-15 2 ~
Screw M3 iron 6 8
Unit: mm
Structure:Tube Extrusion Enclosure
List:
2
Product Size Material | Thickness |Quantity
Box 204*54 | 6063AL 3 1 93
End Panel| 180*54 | 5052AL | 12-15 2 3
Screw M3*6 iron 6 8 169.8 i
1724
04
Unit: mm
69
. 61
Structure:Tube Extrusion Enclosure 60,6
List:
D
Product Size Material | Thickness |Quantity . d
0
Box 69*24 | 6063AL| 17 1 & DI
End Panel| 69*24 | 5052AL | 12-15 2 2 ;J
Screw M3 iron 6 8
1,7

15




PAO75 70*35-Length

4

PAO76 70*38-Length

PAO77 70*44-Length

PAO78 71*45-Length

PA0O79 70*46-Length

Unit: mm

Structure:Tube Extrusion Enclosure

P UMAY EES

List:
Product Size Material | Thickness |Quantity
Box 70*35 6063AL 17 1
End Panel| 70*35 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

51 10 45
. . ‘ 46 '
Structure:Tube Extrusion Enclosure C A\\
List: - iﬂ L;
46,8
Product Size Material | Thickness |Quantity g‘g‘
Yo}
Box 7038 | 6063AL | 1.3 1 29 N
End Panel| 51*38 |5052AL | 12-15 P Sr’. = 48
Screw M3 iron 6 8 « Lr‘: 46,8 a
ol .L?J. - ’& —
’ 70
Unit: mm
70,2
Structure:Tube Extrusion Enclosure gz%
Product Size Material | Thickness |Quantity E ;
Box 70*44 | 6063AL 17 1 O«
End Panel| 70*44 5052AL | 1.2-15 2 2.4 g N
Screw M3 iron 6 8 J
n]3*8
NS
67,2
Unit: mm
70,6
Structure:Tube Extrusion Enclosure 64,7
List: MBB/T
60,4
Product Size Material | Thickness |Quantity pu
Box 71*45 6063AL 1.5 1 g’ ?)'
~ < <
End Panel| 71#45 | 5052AL | 12-15 2 ~
Screw M3 iron 6 8 ,5
64,7
Unit: mm
Structure:Tube Extrusion Enclosure
List: S
L
Product Size Material | Thickness |Quantity ;
Box 7046 | 6063AL | 18 1 NE I
o
End Panel| 70*46 | 5052AL | 12-15 2
Screw M3 iron 6 8 1
o

16

64,3




P UMAY EES

PA0O80 71*25-Length  Unit: mm

Structure:Tube Extrusion Enclosure

48,8
List: 42.8
|
Product Si Material | Thi i I~ 15 =
» roduc ize aterial | Thickness |Quantity b 1.9 MM
: Box | 7105 |6063AL| 15 1 B
End Panel| 71*25 |5052AL | 12-15 2 J é e
Screw M3 iron 6 8 =
70,8
PA0O81 70*23.8-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity
Box 70*23.8 | 6063AL 15 1
End Panel| 70+23.8 |5052AL | 12-15 2
Screw M3 iron 6 8
PA082 73*41.5-Length  Unit: mm
73,1
Structure:Tube Extrusion Enclosure ggg
List: —=
Product Size Material | Thickness |Quantity %9
i
Box 73%415 | 6063AL | 25 1 o o
End Panel| 73*415 |5052AL | 12-15 P . o
Screw M3 iron 6 8 2,5
f
Unit: mm
73,2
Structure:Tube Extrusion Enclosure
. 1.8
List: *8 |
Product Size Material | Thickness |Quantity 69.6
Box 73*65 | 6063AL | 1.8 1 ’ © ?,
| ©
End Panel| 73*65 |5052AL | 12-15 2
Screw M3 iron 6 8
62,5
Unit: mm
Structure:Tube Extrusion Enclosure 743
List: 70,3
— Product Size Material | Thickness |Quantity
| Box 74%22 6063AL 1.8 1 o \ M2.578 2 <
\ |endPanel| 7422 | 5052AL| 1215 | 2 =y 1,8 3 =
Screw M2.5 iron 6 8 L © r )

17



P UMAY EES

PA0O85 74*40-Length  Unit: mm
PUMAYEES
Structure:Tube Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity
Box 74%40 | 6063AL | 17 1
End Panel| 74*40 5052AL | 12-15 2
Screw M2.5 iron 6 8
PA086 75*45-Length  Unit: mm
75
. 69,8
Structure:Tube Extrusion Enclosure 67
. 67
List: I Ny A3*8
UV VUV UVy ‘—' U T u? | -
Product Size Material | Thickness |Quantity 26 B ] L
Box 75¢45 | 6063AL | 14 1 ’ 74
o 104 Q)
End Panel| 75445 |5052AL | 1215 | 2 @ 13, S
; P ) 16,4
Screw M3 iron 6 8 G 2 - ] 19,
nnna ‘-0-.£ '\—{E nnnnnNnnA
PA087 86*26-Length  Unit: mm
Structure:Tube Extrusion Enclosure -
List: et
: _ _ " 1|l
Product Size Material | Thickness |Quantity . o o 4
572 3 g
Box 86*26 6063AL 2 1 g{, - : = ER ?—S i -
End Panel| 86*26 | 5052AL | 12-15 2 ‘:42_1‘—
Screw M3 iron 6 8 R0 4-02. 53’.7 E A g
$57.520.1
6620.]
858
PA088 78*24-Length  Unit: mm
Structure:Tube Extrusion Enclosure
. 64,2
List: 60,6
Product Size Material | Thickness |Quantity Q 5
Box 78*24 6063AL 1.5 1 - <
0 AN N
End Panel| 78%24 | 5052AL | 12.15 2 N_I\-' Mﬁ:ﬁ\é
Screw | M25 | iron 6 8 Il o
78
PA0O89 78*24-Length  Unit: mm
Structure:Tube Extrusion Enclosure -8
- 69,2
List: 67
Product Size Material | Thickness |Quantity
== Box 78%24 6063AL 1.8 1 5 . J S
) End Panel| 78724 | 5052AL | 12-15 2 i gﬁ &
o Screw M2.5 iron 6 8 9

18




PA090 89*60-Length

Waveg

-

PA091

PA092 80*22-Length

PA093 80*24-Length

PA094 80*33.8-Length

80*19-Length

Unit: mm

Structure:Tube Extrusion Enclosure

P UMAY EES

52
List: ‘ <
: g -
Product Size Material | Thickness |Quantity| g - - M2 4 L
Box 89*60 | 6063AL | 15 1 g - 0
End Panel| 89*60 | 5052AL | 12-15 2 48 =
Screw / / / 8 50
Unit: mm
Structure:Tube Extrusion Enclosure
List: 79,5
76,3
Product Size Material | Thickness |Quantity ) B*8
Box 8019 | 6063AL | 15 1 O*’F 2l el
End Panel| 80*19 |5052AL | 12.15 2 © t g w| ©
Screw M3 iron 6 8 o\ 27 16
Unit: mm
Structure:Tube Extrusion Enclosure 61
Pt \ 60 \
List: % AR2
Product Size Material | Thickness |Quantity 15 g ] ?
T .
Box | 8022 |6063AL| 16 1 BIN B I jj Rl
End Panel| 80%*22 |5052AL | 12-15 2 o ((r 0SS o
Screw M3 iron 6 8 ‘ 0.5 2 70 (
73.5+0.1
76+0.1
80+0.1
oLz ey
UnitiKEE  BB{iz mm
Structure:Tube Extrusion Enclosure
List: 80.2
. : . 73.8 .
Product Size Material | Thickness |Quantity <o) 3 M2 5*8
|
Box 80*24 6063AL 1.3 1 i =i /y?“ ~| 1~
End Panel| 80*24 5052AL | 1.2-15 2 g'; Aj 2] m
Screw M3 iron 6 8 e
77,8
Unit: mm
65,2
Structure:Tube Extrusion Enclosure 55153
List:
Product Size Material | Thickness |Quantity 2 W
Box 80*33.8 | 6063AL 1.8 1 ) | ?, 22"
I3
End Panel| 80*33.8 | 5052AL | 12-15 2 I'tﬂ ©
N ©
Screw M4 iron 6 8 1 —1
80,2

19




PA095 130*123-Length

PA096 80*37.5-Length

PA097 80*44-Length

PA098 130*69-Length

PA099 81*25-Length

PUMAYEER

Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 130*123 | 6063AL 1.7 1
End Panel| 130%123 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 80*37.5 | 6063AL 17 1
End Panel| 80*37.5 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 80*44 6063AL 1.8 1
End Panel| 80*44 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 130*69 | 6063AL 15 1
End Panel| 130%69 | 5052AL | 12-15 2
Screw M2.5 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 81*25 6063AL 14 1
End Panel| 81*25 | 5052AL | 12-15 2
Screw M3 iron 6 8

20

P UMAY EES

uzs.@ b4 Q
Wl S
80
70
‘ 67,5 ‘
|
3 M e
2 o
™
o ! | [
[sel g
A R
70

sy

67.2
61,3 ‘
16 14N
| e
i 2923
70,1
74,1
80,4
69
63.1 : |
62.4 .
65.4 "
7| :
65.8 |
5 |




P UMAY EES

PA100 81*24-Length  Unit: mm

. 81,2
Structure:Tube Extrusion Enclosure 715
List: 70,8
Product Size Material | Thickness |Quantity Y
Box 81*24 | 6063AL| 13 1 1.3 MSB_,; %3
N
End Panel| 81*24 | 5052AL | 12-15 2 g'
Screw M3 iron 6 8
PA101 81.3*29.5-Length  Unit: mm
_ 65,5
Structure:Tube Extrusion Enclosure 62,7
List: 58,2
nS DI
Product Size Material | Thickness |Quantity Mﬁ:g/u‘1
Box | 81.3*29.5 | 6063AL | 1.4 1 1.4 S o
End Panel| 81.3*29.5 | 5052AL | 12-15 2 é A
Screw M3 iron 6 8 Y =
81,3
PA102 82.4*18.5-Length  Unit: mm
PUMAYEES Structure:Tube Extrusion Enclosure
. 82.4 )
List: 75.4
N 0
Product Size Material | Thickness |Quantity g =| 694
Box 82.4*18.5 | 6063AL 15 1 o 5 ‘—l &
E Egd ;
; nd Panel| 82.4*185 | 5052AL | 12-15 2 AR 3 u
\ Screw M3 iron 6 8 ~! 69.4 -
71.4
76.4
PA103 82*27-Length  Unit: mm
Structure:Tube Extrusion Enclosure 82
fet . 76
List: ‘74 1
Product Size Material | Thickness |Quantity 76 MZM
Box 82+27 | 6063AL| 1.6 1 ©O'N
ol N
End Panel| 82*27 | 5052AL | 12-15 2 | ~
Screw | M25 | iron 6 8 -
PA104 82*32-Length  Unit: mm
) 82
Structure:Tube Extrusion Enclosure ;gi
List: 73
Product Size Material | Thickness |Quantity 4 E
*
Box 82+32 | 6063AL| 13 1 i 17 MM{ :. =N
AN
End Panel| 82+32 |5052AL | 12-15 | 2 %—i:,\ h
Screw M3 iron 6 8 # l\—{ L‘QQ
b%?4

21



P UMAY EES

PA105 82*42.5-Length  Unit: mm

81,8
Structure:Tube Extrusion Enclosure 566 M3*8
. I '
List: = 0
Product Size Material | Thickness |Quantity é\
Box | 82+425 | 6063AL | 1.65 1 %fﬁ
End Panel| 82*425 |5052AL | 12-15 2 Q/ MM
Screw M3 iron 6 8 A
65
75
PA106 138*36-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity [ = ﬂ‘
hg . 2
Box 138*36 | 6063AL 17 1 =
End Panel| 138*36 | 5052AL | 12.15 2 [D % T j
Screw M3 iron 6 8 ml‘(w ol
PA107 84*17.5-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: ?g
N - N - 72
Product Size Material | Thickness |Quantity ljt I)
Box | 84*175 | 6063AL 1 1 2 * Q“’ )
> M2.5*%4 |
End Panel| 84*17.5 |5052AL | 12-15 2 Sl 2
Screw M3 iron 6 8 1 76,1
PA108 85*35-Length  Unit: mm
72,1
Structure:Tube Extrusion Enclosure 69,2
. 60,8
List: 60
Product Size Material | Thickness |Quantity J\MUUUUUUUUUUUUUUJL
Box 85*35 6063AL 1.5 1 b E\J o
End Panel| 8535 |5052AL | 12-15 | 2 S o Mas </ 2 g
Screw M3 iron 6 8 | g E‘ N
& J
f
PA109 85*35-Length  Unit: mm
60
Structure:Tube Extrusion Enclosure gg —
List: —
Product Size Material | Thickness |Quantity E o “
Box 85435 | 6063AL | 3 1 2 W N
End Panel| 85*35 | 5052AL | 12-15 2 [ E
Screw M3 iron 6 8 ch )
85

22



P UMAY EES

PA110 86*28-Length  Unit: mm

. 86
Structure:Tube Extrusion Enclosure 736
List: 72
T
Product Size Material | Thickness |Quantity é S
Box 86*28 | 6063AL | 1.1 1 (f; MS—S‘ESZ) <§ %
End Panel| 8628 |5052AL | 1215 | » Pl
_ o L
Screw M3 iron 6 8 €

PA111 87.7*36.6-Length  Unit: mm

87,7
Structure:Tube Extrusion Enclosure 80,1
List: 78,5
Product Size Material | Thickness |Quantity
Box 87.7*36.6 | 6063AL 2.7 1 o ©
, S M3*8 B o o
: End Panel| 87.7*36.6 | 5052AL | 12-15 2 | ™
%@ Screw M3 iron 6 8 Eﬁ—cf{ Jﬁ
o]
PA112 88*39-Length  Unit: mm
72
Structure:Tube Extrusion Enclosure 70
List: |
o o M3'8 2
Product Size Material | Thickness |Quantity i 9
Box 8839 | 6063AL | 18 1 2 o
o™ ©
End Panel| 88*39 | 5052AL | 12-15 2 | ®
Screw M3 iron 6 3 <~ q J\5ﬁ
88
PA113 88*41-Length  Unit: mm
PUMAYEE .
UMAYES Structure:Tube Extrusion Enclosure | 74 4
I
List: i Rl a
F 2 Se =
Product Size Material | Thickness |Quantity Sg ;J? <+ ob g e
Box 88*41 | 6063AL 2 1 o LL;
) Nk SIS
End Panel| 88*41 5052AL | 12-15 2 F— et = i
N o [ 68 \
Screw M3 iron 6 8 70
88
PA114 90*24-Length  Unit: mm
Structure:Tube Extrusion Enclosure 74.2
. 71,2
List:
Product Size Material | Thickness |Quantity S M2‘5:8/L% ©| ©
Box 90*24 6063AL 15 1 ! 1.3 9 8 ('N)
E ¥
End Panel| 90*24 | 5052AL | 12-15 2 — < “{
Screw M2.5 iron 6 8 5(1)’2

23



PA115 91*45-Length

Unit: mm

P UMAY EES

91,2
. 84,6
Structure:Tube Extrusion Enclosure |
. M3*g 1.3
List: Lg\ T gJL
Product Size Material | Thickness |Quantity gi <
Box 91*45 | 6063AL | 13 1 s < oY
End Panel| 91%45 | 5052AL | 12.15 2 r 1
Screw M3 iron 6 8 E ?J
83,7
88,6
PA116 92*30-Length  Unit: mm
Structure:Tube Extrusion Enclosure 23 17
List: (ﬂumﬂmmwwmn_fww }“m *8
S e
Product Size Material | Thickness |Quantity :ﬁl 76.5 q =
Box 92*30 6063AL 2 1 F g
End Panel| 92+30 | 5052AL | 12-15 2 ¥ AN
Screw M3 iron 6 8 g%.g
92
PA117 92*39.3-Length  Unit: mm
91,7
. 78,7
Structure:Tube Extrusion Enclosure 73.3
List: 2# T
Product Size Material | Thickness |Quantity 16 MB:B/%;?
Box | 92¢393 | 6063AL | 2 1 r f 9
End Panel| 92%39.3 | 5052AL | 12-15 2 i ®
©
Screw M3 iron 6 8 d&ﬂ
PA118 96.5*28-Length  Unit: mm
] . 82,8
Structure:Tube Extrusion Enclosure 802
List: 14 \
1.5 -
Product Size Material | Thickness |Quantity — o M
Box | 965728 | 6063AL| 15 1 | N g
End Panel| 96.5%28 | 5052AL | 12-15 2 ~I .\[
Screw M2 iron 6 8 773
96,5
PA119 97*21-Length  Unit: mm
Structure:Tube Extrusion Enclosure 97,1
. 90
List: 89
Product Size Material | Thickness |Quantity / \
Box " @ o M2.58 g%
97*21 6063AL 15 1 e | Q KR
E E:
End Panel| 97*21 | 5052AL | 12-15 2 19 LS: ~ L
Screw M2.5 iron 6 8

24



P UMAY EES

PA120 91*30-Length  Unit: mm

91,3
Structure:Tube Extrusion Enclosure 86.1
List:
|
Product Size Material | Thickness |Quantity P’ 2[ * G
Box 91*30 6063AL 2 1 (30 <p)
End Panel| 91*30 5052AL | 12-15 2 JEO’:N‘ g g
Screw M2.5 iron 6 8 f '\( E
88,1
PA121 91*41-Length  Unit: mm
94,5
. 89,5
Structure:Tube Extrusion Enclosure 86,1 L=
List: %; ‘/fé —
1,5
Product Size Material | Thickness |Quantity é ol <
Box 91%41 | 6063AL | 17 1 ¥ PN QS| <
End Panel| 91%41 | 5052AL | 1215 2 i 2 N SR i
1 -
Screw M3 iron 6 8 | 1 FL f Sl
89,5 f
91
93,5
PA122 100*27-Length  Unit: mm
PUMAYEES .
- Structure:Tube Extrusion Enclosure
List: 100
N . R . M 89.6 ]
Product Size Material | Thickness |Quantity r~ gl
Box 100%27 | 6063AL 17 1 B o =
End Panel| 10027 | 5052AL | 12-15 2 e INT i
Screw M3 iron 6 8 L =5 8704
4 [ 90
PA123 100*35-Length  Unit: mm
) 80
Structure:Tube Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity rgl—/ Wﬁ
Box 100*35 | 6063AL 2 1 p g
End Panel| 100*35 |5052AL | 12-15 2
Screw M3 iron 6 8 3 lé
76
100
PA124 100*45.5-Length  Unit: mm
100
. 1,5
Structure:Tube Extrusion Encl —
) i U
List: —
Product Size Material | Thickness |Quantity o 0|
N
Box 100*45.5 | 6063AL 2 1 8 N “ @
End Panel| 100*45.5 | 5052AL | 12-15 2 L ? =
[
Screw M3 iron 6 8 % | ~ Y % 1
1 | I
\ g1 2 {
84
88

25



P UMAY EES

PA125 100*45.5-Length  Unit: mm

100
. 80
Structure:Tube Extrusion Enclosure 75.9
List: LTS O
& Mﬁ)fa’
- Product Size Material | Thickness |Quantity
' Box | 100455 | 6063AL | 17 1 )
SO
/ End Panel| 100%455 |5052AL [ 12-15 | 2 N
nd I / Screw M3 iron 6 8
U ne
PA126 100*50-Length  Unit: mm
100
. 96
Structure:Tube Extrusion Enclosure
List: 5 M3*8 >4 |
Product Size Material | Thickness |Quantity
Box 100%50 | 6063AL 2 1 < a
Yo
End Panel| 100*50 | 5052AL | 12-15 2
Screw M3 iron 6 8

PA127 103*24-Length  Unit: mm

Structure:Tube Extrusion Enclosure

List: 7%38
Product Size Material | Thickness |Quantity 76.8 4\E
3 " o]
Box | 103*24 |6063AL| 16 1 * s S 28y
End Panel| 103+24 |5052AL | 12-15 2 [ é o e 1r§
Screw M3 iron 6 8 - 76,8 ]f —
77,2
103
PA128 103*33-Length  Unit: mm
] 83
Structure:Tube Extrusion Enclosure 773
List:
R M3*8 V2
Product Size Material | Thickness |Quantity ~
Box | 10333 | 6063AL| 19 ] | 28
End Panel| 103*33 | 5052AL | 12-15 2 ol
O
Screw M3 iron 6 8
103
PA129 104*28.5-Length  Unit: mm
Structure:Tube Extrusion Enclosure 76.4
List: 71.9
|73
Product Size Material | Thickness |Quantity 744/’\—‘ ;%—
7 - 0 d 10 0|
Box | 104*285 | 6063AL 2 1 e T2 o o < GRS
End Panel| 104*285 | 5052AL | 1.2-15 2 & 14_L o N 1,5 I
- il N - | P
Screw M2 iron 6 8 S S 804 i gg =
104

26



PA130

PA131

PA132

PA133

PA134

104*51-Length

Unit; mm

Structure:Tube Extrusion Enclosure

110*28-Length

139*53-Length

111*58-Length

114*37.5-Length

List:
Product Size Material | Thickness |Quantity
Box 104*51 6063AL 2 1
End Panel| 83*504 |5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 110*28 | 6063AL 2 1
End Panel| 110*28 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 139*53 | 6063AL 2 1
End Panel| 114*53 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 111*58 | 6063AL 2 1
End Panel| 111*58 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 114*37.5 | 6063AL 2.5 1
End Panel| 114*37.5 | 5052AL | 12-15 2
Screw M2.5 iron 6 8

27

P UMAY EES

83
76
P M3*8
L#TF‘* o
< €3
y \ &
i 4
‘ \ " 70 |
104
85
1
: (fm"l'-o N“ o -
B2 +e il
& il
w
| [— :
80

42,8
N

HMS*8
1S
g
90
&3

28

T ™375



P UMAY EES

PA135 116*35-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: ;Zé M2 5%8
ST 7
Product Size Material | Thickness |Quantity 18 gmgg
Box 116*35 | 6063AL | 2.5 1 2,5 gt
s N S
End Panel| 116+35 | 5052AL | 12-15 2 = —— 4 f
83,2
Screw M3 iron 6 8 87,2
92,2
116,2
PA136 120*18-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List:
120
Product Size Material | Thickness |Quantity 113
B 6063AL 1096 SR
ox 120*18 15 e
! is E#m%
End Panel| 12018 | 5052AL | 12-15 2 b 3]
Screw M3 iron 6 8
PA137 120*26-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: 120
111.8 M3*8
Product Size Material | Thickness |Quantity T3
D iy Box 12026 | 6063AL 15 1 = # AR
@@@ End Panel| 120*26 | 5052AL | 12-15 2 f J'J_O—’L j
Screw M3 iron 6 8
PA138 120*45-Length  Unit: mm
Structure:Tube Extrusion Enclosure ﬁg
List:
|
Product Size Material | Thickness |Quantity o 2 MB:B/ID
Box 120*45 | 6063AL 2 1
2 Q0
End Panel| 120*45 | 5052AL | 12-15 2 2 Y
M3 i d
Screw ron 6 8 < LAY UUUUUUUUUUUUUUUUUUUUUUUUUUkﬂ;
147*62-Length  Unit: mm

PA139

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 147*62 | 6063AL 2.2 1
End Panel| 147*62 |5052AL | 12-15 2
Screw / / / 8

28

147
T 22 Miﬁbja
«3__ N
B ©
136
138,60
142,06




P UMAY EES

PA140 122*54-Length  Unit: mm
122
Structure:Tube Extrusion Enclosure 110
. ol
List: 7741—//_‘“7 I
Q
Product Size Material | Thickness |Quantity L ‘_]l
. © §8
S Box 122*54 | 6063AL 2 1 NJ o{{ al
End Panel| 122%54 |5052AL | 12-15 | 2 g 2 yid
Screw M3 iron 6 8 H1 ¥
106
115
118
PA141 73*37-Length  Unit: mm
66,2
Structure:Tube Extrusion Enclosure M3*8 4z
. I |
List: 23 —
3.1 a
Product Size Material | Thickness |Quantity NS o
/ / Box 73737 | 6063AL | 15 1 5 g 2 |
, End Panel| 73*37 | 5052AL | 12-15 2 1,5 9
) Screw M3 iron 6 8 P i_L
. 66,1
69,3
72,3
PA142 127*25-Length  Unit: mm
Structure:Tube Extrusion Enclosure
- 28
List: 57 2% 425 *
Product Size Material | Thickness |Quantity | f Nﬂﬁf\l A au
PUMay. ~f | —1 LO‘] AN N
& & Box 127*25 | 6063AL 2.5 1 | = ch — J 5
- End Panel| 127+25 |5052AL | 12-15 5 25 11(())5) 2.5 \
Screw M3 iron 6 8 127
PA143 128*34-Length  Unit: mm
Structure:Tube Extrusion Enclosure 128
List: 119
Product Size Material | Thickness |Quantity
Box 128*34 | 6063AL 2 1 N 2 2 MS:S_/?}' a<
End Panel| 128*34 | 5052AL | 12-15 2 Kii - I
Screw M3 iron 6 8 = _Z
114,4
PA144 130*56-Length  Unit: mm
130,5
Structure:Tube Extrusion Enclosure 1265
List:
Product Size Material | Thickness |Quantity ji’ Mﬁi%
c 1.8 =
Box 130*56 6063AL 1.8 1 = 410
Q[ w
End Panel| 130*56 | 5052AL | 12-15 2 =_l>_]Y 0| 4
i © N~
Screw M3 iron 6 8 ) e’ N Ig

29




P UMAYEES

PA145 131*30-Length  Unit: mm

Structure:Tube Extrusion Enclosure 104
) 101
List: 94,3 J
Product Size Material | Thickness |Quantity Mﬁi&/ué ©|N|
Box 131*30 | 6063AL 1.8 1 i b & ™
End Panel| 131*30 | 5052AL | 12-15 2 L§L L 9.8 i
Screw M3 iron 6 8 130
PA146 131*50-Length  Unit: mm
Structure:Tube Extrusion Enclosure 113;
List: ‘ 123 }
- 5 o) M3'8 2
__‘l 3 Product Size Material | Thickness |Quantity =
: % Box 131*50 | 6063AL 2 1 S c9 3
) End Panel| 131*50 | 5052AL | 12-15 2
Screw M3 iron 6 8 N F o)
f
PA147 133*46-Length  Unit: mm
109,6
Structure:Tube Extrusion Enclosure 132
‘ot | |
List: E 5 =
Product Size Material | Thickness |Quantity ol ©
B 2 ol ©
OX 133*46 | 6063AL 2 1 ) < <
<
End Panel| 133*46 |5052AL | 12-15 2 L N
Screw M3 iron 6 8 2 f
133
PA148 133*26-Length  Unit: mm
Structure:Tube Extrusion Enclosure 109.6
List: 105
103 |
Product Size Material | Thickness |Quantity Jﬁz g 1
Box 133*26 | 6063AL 2 1 ‘ N §
End Panel| 133*46 | 5052AL | 12-15 2 ?‘V]f ,g .
Screw M2.5 iron 6 8 ‘ 133
PA149 133*65-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List:
| Product Size | Material | Thickness |Quantity
Box 133*65 6063AL 2 1 % Z
©
End Panel| 133%*65 | 5052AL | 12-15 2
Screw M2.5 iron 6 8

30



PA150

134*29-Length

Unit; mm

Structure:Tube Extrusion Enclosure

P UMAY EES

et 133,8
List: 1278
Product Size Material | Thickness |Quantity 1238 1
1.9 1]
Box 134*29 | 6063AL 16 * <©
! M3*8 2} <l
End Panel| 134729 |5052AL | 12.15 | 2 | N
Screw M3 iron 6 8 o
PA151 138*35-Length  Unit: mm
Structure:Tube Extrusion Enclosure 1177
List: 114.1
Product Size Material | Thickness |Quantity 2,2 MZM
Box 138435 | 6063AL | 2 p K 1133 1 %‘ %
End Panel| 138*35 |5052AL | 12-15 2 | TJ af|
- ~
S M2.5 115
crew iron 6 8 ﬁ 138 ‘
PA152 138*39-Length  Unit: mm
Structure:Tube Extrusion Enclosure 118
. 114
List:
OV
Product Size Material | Thickness |Quantity [S\r 9 MM ol ~
Box 138+39 | 6063AL 2 1 g ) S 5
End Panel| 138*39 | 5052AL | 12-15 2 ) [T} J
Screw M3 iron 6 8 115.6
138
PA153 141*35-Length  Unit: mm
Structure:Tube Extrusion Enclosure wg;,g
List: 16.4 1
Product Size Material | Thickness |Quantity ﬁ VL\ ol
0
Box 14135 | 6063AL 2 1 - E N
End Panel| 141*35 |5052AL | 12-15 2 \—%ﬁ 80,2 ~ <
: , 90.2 |
crew M3 iron 6 8 1253
PA154 142*44.5-Length  Unit: mm
Structure:Tube Extrusion Enclosure 1283
List: K
Product Size Material | Thickness |Quantity i~
[o0] oA
Box 142*445 | 6063AL 3 1 ag 3
End Panel| 142445 | 5052AL | 12-15 2 P
M2 iron — 111 H—
S
crew 6 8 122
142

31




PA150

134*29-Length

Unit; mm

Structure:Tube Extrusion Enclosure

P UMAY EES

et 133,8
List: 1278
Product Size Material | Thickness |Quantity 1238 1
1.9 1]
Box 134*29 | 6063AL 16 * <©
! M3*8 2} <l
End Panel| 134729 |5052AL | 12.15 | 2 | N
Screw M3 iron 6 8 o
PA151 138*35-Length  Unit: mm
Structure:Tube Extrusion Enclosure 1177
List: 114.1
Product Size Material | Thickness |Quantity 2,2 MZM
Box 138435 | 6063AL | 2 p K 1133 1 %‘ %
End Panel| 138*35 |5052AL | 12-15 2 | TJ af|
- ~
S M2.5 115
crew iron 6 8 ﬁ 138 ‘
PA152 138*39-Length  Unit: mm
Structure:Tube Extrusion Enclosure 118
. 114
List:
OV
Product Size Material | Thickness |Quantity [S\r 9 MM ol ~
Box 138+39 | 6063AL 2 1 g ) S 5
End Panel| 138*39 | 5052AL | 12-15 2 ) [T} J
Screw M3 iron 6 8 115.6
138
PA153 141*35-Length  Unit: mm
Structure:Tube Extrusion Enclosure wg;,g
List: 16.4 1
Product Size Material | Thickness |Quantity ﬁ VL\ ol
0
Box 14135 | 6063AL 2 1 - E N
End Panel| 141*35 |5052AL | 12-15 2 \—%ﬁ 80,2 ~ <
: , 90.2 |
crew M3 iron 6 8 1253
PA154 142*44.5-Length  Unit: mm
Structure:Tube Extrusion Enclosure 1283
List: K
Product Size Material | Thickness |Quantity i~
[o0] oA
Box 142*445 | 6063AL 3 1 ag 3
End Panel| 142445 | 5052AL | 12-15 2 P
M2 iron — 111 H—
S
crew 6 8 122
142

32




PA155 144*28-Length  Unit: mm

P UMAY EES

Structure:Tube Extrusion Enclosure 111
List: 8-M3
S 7
Product Size Material | Thickness |Quantity g L o
Box 144*28 | 6063AL 2 1 ,\(i a ? g ]
End Panel| 144%28 | 5052AL | 1215 | 2 { 11191Y 35
Screw M3 iron 6 8 %8
44
PA156 147*29-Length  Unit: mm
Structure:Tube Extrusion Enclosure
List: 118
; 1136
Product Size Material | Thickness |Quantity i <
f <[
Box 147*29 | 6063AL 2 1 o |
N
End Panel| 147429 | 5052AL | 12-15 2 o S § =
- 1
S M3 116
crew iron 6 8 147
PA157 149*38-Length  Unit: mm
Structure:Tube Extrusion Enclosure Hg
List:
o M3*8 2
Product Size Material | Thickness |Quantity f 6.6 o o
Box | 149+38 | 6063AL | 18 1 9 ol &7
End Panel| 149*38 | 5052AL | 12-15 2 =
Screw M3 iron 6 8 115,4
149
PA158 150*75-Length  Unit: mm
_ 143
Structure:Tube Extrusion Enclosure 945 :
. 8
List: M3*8 |
1,3
Product Size Material | Thickness |Quantity 3
Box 150*75 | 6063AL 1.8 1 ?) ‘0_1 g
End Panel| 150*75 |5052AL | 12-15 2 a 15 = 143
Screw M3 iron 6 8 é 0
7 — ww_év
150
PA159 156*28-Length  Unit: mm
Structure:Tube Extrusion Enclosure 1354
. 128.4
List:
Product Size Material | Thickness |Quantity e < M2.5'8 =% o
Box 156*28 | 6063AL 2 1 L | N g
» < 88 8
End Panel| 15628 |5052AL | 12-15 2 f
Screw M2.5 iron 6 8 156,4

33



PA160

PUMAY,

o oo

PA161

PA162

PA163

PA164

157*40-Length

158*39-Length

Unit; mm

Structure:Tube Extrusion Enclosure

P UMAY EES

1571

145

4

36,3

40,1

List:
Product Size Material | Thickness |Quantity
Box 157*40 | 6063AL 19 1
End Panel| 157*40 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

158.4*24.4-Length

132

128

35
39

List:
Product Size Material | Thickness |Quantity
Box 158*39 | 6063AL 2 1
End Panel| 158*39 |5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

158

X

S
2%

A

55

9
7L

(%2

(S 01004

159*35-Length

List:

Product Size Material | Thickness |Quantity
Box |158.4*24.4 | 6063AL 2 1

End Panel| 158.4*24.4 | 5052AL | 12-15 >
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

| —
35|\

134

129

27

4

M3*8

159*58-Length

List:
Product Size Material | Thickness |Quantity
Box 159*35 | 6063AL 2 1
End Panel| 159*35 |5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

Structure:Tube Extrusion Enclosure

130

159

159,1

156

List:
Product Size Material | Thickness |Quantity
Box 159*58 | 6063AL 15 1
End Panel| 159*58 | 5052AL | 12-15 2
Screw M4 iron 6 8

34

%

-
=

58,1

1421




P UMAY EES

PA165 165*40-Length  Unit: mm

Structure:Tube Extrusion Enclosure

List:
o ]
Product Size Material | Thickness |Quantity 1 FHN
Box 165*40 | 6063AL 2.2 1 9 E ';4,:: 7/7
End Panel| 165*40 |5052AL | 12-15 2 “yi{
Screw M3 iron 6 8 126
1585
165
PA166 168*39-Length  Unit: mm

Utny

"o

PA167 170*31-Length

Structure:Tube Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity :
— |
Box 168*39 | 6063AL 21 1 — | o
End Panel| 168+39 | 5052AL | 12-15 2 5( t{*
Screw M3 iron 6 8 ]
Unit: mm

Structure:Tube Extrusion Enclosure

List:
170
Product Size Material | Thickness |Quantity 166
_H. 15
Box 170*31 | 6063AL 2 1 372 J9s
End Panel| 170%*31 5052AL | 1.2-15 2 u :
Screw M3 iron 6 8 168 J
PA168 170*53-Length  Unit: mm
Structure:Tube Extrusion Enclosure 1655
156.9
List: 151
Product Size Material | Thickness |Quantity E
Box 170%53 6063AL 2 1 o o o
End Panel| 170%*53 | 5052AL | 12-15 2 2 N
Screw M3 iron 6 8 R s
157.4 ‘
169.8
PA169 176*44-Length  Unit: mm

Structure:Tube Extrusion Enclosure

List: s
——
Product Size Material | Thickness |Quantity 24
Box 176*44 | 6063AL | 2.1 1 150 g 3
o
End Panel| 176*44 | 5052AL | 12-15 2 ! {st X
f
Screw M3 iron 6 8 6 ‘

35




PA170 220*40-Length

PA171 104*86-Length

PA172 179*63-Length

PA173 140*36-Length

Unit; mm

Structure:Tube Extrusion Enclosure

P UMAY EES

List:
o — N
Product Size Material | Thickness |Quantity t
Box 220*40 | 6063AL 35 1
End Panel| 22040 | 5052AL | 12-15 2
Screw M3 iron 6 8
Unit: mm

104
100
Structure:Tube Extrusion Enclosure 7
List:
Product Size Material | Thickness |Quantity
Box 220*40 | 6063AL 35 1 2 % %
End Panel| 220*40 | 5052AL | 12-15 2
Screw M3 iron 6 8
‘% M2*8
93
Unit: mm
Structure:Tube Extrusion Enclosure
. P
List:
Product Size Material | Thickness |Quantity B i — = :7 —l = r
Box 220*40 | 6063AL 35 1
End Panel| 220%40 |5052AL | 12.15 | 2 Sem
Screw M3 iron 6 8 p
Unit: mm
Structure:Tube Extrusion Enclosure 140
List: 8=MJ3 —+8 —
W AN
Product Size Material | Thickness |Quantity «
Box 140*36 | 6063AL 2 1 “
End Panel| 140*36 | 5052AL | 12-15 2 e L
: 2 136
Screw M3 iron 6 8

36




Split Extrusion Enclosure

ya )/ SRS UL Pl

r

PUMAY

electronic enclosure manufacture

Split Aluminum Enclosure
The utility model is composed of an upper enclosure + bottom box + a front and rear panel + screw.

Style: wall hanging style, plane style

Advantages: The inner part of the shell is provided with a PCB card slot, which is convenient for
fixing the circuit board and its components. Easy to install, light and portable, beautiful appearance.
And good heat dissipation.

PBERBUHA IR

Hpk: B LT+ TSR+ RIfSER + 1822 4 BB 4EMK.

= EBEER. FER

FRRERE PCB R18, HLREIERERAE TRt RRAE, ReEE, JMEm. Brdd



P UMAY EES

PBOO1 25*25-Length  Unit: mm

25.6
Structure:Split Extrusion Enclosure 2.6
List: NS =
nY % j
Product Size Material | Thickness |Quantity 3.9
Box | 256258 | 6063AL | 25 2 i o ﬂ;;g
End Panel| 25.6+258 | 5052AL | 12-15 | 2 M3*3
Screw M3 iron 6 8 '\% IS
K T
PB002 25*25-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity
Box 25425 | 6063AL| 1.9 2 S o 8
End Panel| 25+*25 | 5052AL | 12-15 2
Screw M3 iron 6 4
g 20.4
o~
PBO03 52*38-Length  Unit: mm
. . \
Structure:Split Extrusion Enclosure
. M3*8
List:
Product Size Material | Thickness |Quantity
Box 52*38 6063AL 17 2 :’; ;
End Panel| 52%38 | 5052AL | 12-15 2
Screw M3 iron 6 8 -
T
PBO04 63*25-Length  Unit: mm
63
Structure:Split Extrusion Enclosure “ 5202
List:
* ILE B
Product Size Material | Thickness |Quantity M2.5°8 E
Box 63*25 6063AL 15 2 v
End Panel| 63*25 | 5052AL | 12-15 2
Screw M3 iron 6 8 73 rg
PBOO5 71*25.5-Length  Unit: mm
Structure:Split Extrusion Enclosure 71
List: 1,867
Product Size Material | Thickness |Quantity 5 MZ:S/’\?
Box 71*25.5 | 6063AL 1.8 2 N umi
N
End Panel| 71%255 |5052AL | 12-15 2 oA =
Screw M2 iron 6 4




P UMAYEES

PBO06 76*35-Length  Unit: mm

76
Structure:Split Extrusion Enclosure 71

List:

Product Size Material | Thickness |Quantity

Box 76*35 6063AL 2 2 2 p= g
End Panel| 76+*35 |5052AL | 12-15 2

Screw M2.5 iron 6 8 o =5

PBO07 76*46-Length  Unit: mm

N
E;S

76
Structure:Split Extrusion Enclosure 7.2
. }
List: ‘ -
1.8 M3*8 2
Product Size Material | Thickness |Quantity P\
Box 76*46 | 6063AL 18 2 66,4 To1
End Panel| 76*46 | 5052AL | 12-15 2 2 g Q
Screw M3 iron 6 8
[N
o — |
PBO07b 76*46-Length  Unit: mm
1.8 4.5 1,8
Structure:Split Extrusion Enclosure g
List: 66.9
3,5 ©| <
Product Size Material | Thickness [Quantity| — [ g § g
Box 76*46 6063AL 1.8 2 2,2 |
End Panel| 76%46 | 5052AL | 12-15 2
- 7 o S
Screw M3 iron 6 8 i 639 t— t — *
68.5
71,1
75,
PBOO8 88*38-Length  Unit: mm
88
Structure:Split Extrusion Enclosure 84.2
List:
g 17 2
Product Size Material | Thickness |Quantity W
Box 88*38 6063AL 17 2 O g
End Panel| 88*38 |5052AL | 12-15 2 3
Screw M3 iron 6 8 L
\S 1.8 4
PBO09 90*36-Length  Unit: mm
- . 20
Structure:Split Extrusion Enclosure 872
List: 85
O La>
Product Size Material | Thickness |Quantity :3 19 MWC:
Box 90*36 6063AL 19 2 N 1.8 N g
End Panel| 90*36 | 5052AL | 12-15 2 r &
Screw M2.5 iron 6 8
e <




P UMAYEES

PBO10 95*55-Length  Unit: mm

91.1
) ) 74,6
Structure:Split Extrusion Enclosure
. 1 —
List: i 18 il
Product Size Material | Thickness |Quantity 87.4
Box 95¢55 | 6063AL | 1.8 5 ’ N~
End Panel| 95*55 | 5052AL | 12-15 2 2 59 e
Screw M3 iron 6 8
5
95,1
PBO11 96*45.5-Length  Unit: mm
. . 96
Structure:Split Extrusion Enclosure 912
List: E 14 '
it H 862 L H
Product Size Material | Thickness |Quantity 1
Box 96*45.5 | 6063AL 14 2 * Z} Ite)
<t <
End Panel| 96*455 |5052AL | 12-15 2 29
Screw M3 iron 6 8 =
PBO12 97*40-Length  Unit: mm
97
Structure:Split Extrusion Enclosure 93
) 87
List:
S 2 M3 2
Product Size Material | Thickness |Quantity 7
Box 97+40 | 6063AL | 2 > & a
<t
End Panel| 9740 | 5052AL | 12-15 2 f
Screw M3 iron 6 8 %ﬂf . 6\

PBO13 100*25.5-Length  Unit: mm

Structure:Split Extrusion Enclosure

List: 100
95
Product Size Material | Thickness |Quantity
Box | 100%255 | 6063AL | 18 2 d M2.5*8 8| |
- End Panel| 100255 | 5052AL | 1215 | 2 é% 1.8 gf‘ N9
Screw M2.5 iron 6 8 O

PBO14 106*40-Length  Unit: mm

. . 106
Structure:Split Extrusion Enclosure 101
List: 963,6
-
Product Size Material | Thickness |Quantity 4,9 M3:8/V:

Box 106*40 | 6063AL 2.5 2

"
s
35

End Panel| 106*40 | 5052AL | 12-15 2 |

Screw M3 iron 6 8




P UMAY EES

PBO15 106*54-Length  Unit: mm

106
Structure:Split Extrusion Enclosure 100
List: ? éj R
Product Size Material | Thickness |Quantity “g <
Box 106*54 | 6063AL | 22 2 3
End Panel| 106*54 | 5052AL | 12-15 2 t
Screw M3 iron 6 8 a
PBO16 106*55-Length  Unit: mm
. . 106
Structure:Split Extrusion Enclosure 100,4
List: . Agf?
: : : : : 2,4 _ f
Product Size Material | Thickness |Quantity
Box | 106*55 |GO63AL| 24 2 LS8
End Panel| 106*55 |5052AL | 12-15 2 ©
Screw M3 iron 6 8 ﬁ_ﬁ]& &
=3
PBO17 107*47-Length  Unit: mm
Structure:Split Extrusion Enclosure 107
. 103
List: 99
- {
Product Size Material | Thickness |Quantity 2 *
Box 107*47 6063AL 15 2 o
End Panel| 107*47 |5052AL | 12-15 2 N
Screw M3 iron 6 4 } |
= 3
PBO18 114*33-Length  Unit: mm
Structure:Split Extrusion Enclosure 1145
. 109,5
List: 107.3
Product Size Material | Thickness |Quantity N,] 9 * q
Box 114433 | 6063AL | 17 > - 1,7 N o Qg
End Panel| 114*33 | 5052AL | 12-15 5 = | 3 N
Screw M3 iron 6 8 A
PBO19 122*45-Length  Unit: mm
) ) 122
Structure:Split Extrusion Enclosure 110
List: |
~ e ; L 2 Ma'8 o)
Product Size Material | Thickness |Quantity 218 g
Box 122*45 | 6063AL 2 2 ;‘;’
End Panel| 122*45 |5052AL | 12-15 2 i
Screw M3 iron 6 8 8.51




P UMAYEES

PB020 125*51-Length  Unit: mm

125
Structure:Split Extrusion Enclosure 121
List: ‘
Product Size Material | Thickness |Quantity S e * 9
Box 125%51 6063AL 2 2 b 18 -
End Panel| 125*51 | 5052AL | 12-15 2 N 9
Screw M3 iron 6 8 — _j S
4t
PB021 127*75-Length  Unit: mm
126.7
120,7

Structure:Split Extrusion Enclosure x

List: J; T
2 7.8

Product Size Material | Thickness |Quantity ] 62,8 25 25

O Ye]
Box 127*75 | 6063AL | 25 2 22 N
End Panel| 127*75 | 5052AL | 12-15 2 25
Screw M3 iron 6 8 :Ilz -
K\_Lm L nn n
PB022 138*45-Length  Unit: mm
112
Structure:Split Extrusion Enclosure 107 ‘
List: =25
¥
Al M3
Product Size Material | Thickness |Quantity ;‘_.
q_l\
Box | 13845 |6063AL| 25 2 S %J BT
End Panel| 112#45 | 5052AL | 12-15 2 & :3)
Screw M3 iron 6 8 109
138
PB023 142*53.5-Length  Unit: mm
Structure:Split Extrusion Enclosure 113‘;22
List: ] = 25 : .
Product Size Material | Thickness QuantityLD 8-M3 /%L
| w0 0
Box 142#535 | 6063AL 25 2 B g g
End Panel| 142*53.5 | 5052AL | 12-15 2 “ F
Screw M4 iron 6 8 ol o I‘-—'\%)
- 137,2
PB023b 145*54-Length  Unit: mm
. . 145
Structure:Split Extrusion Enclosure 140.2
List: ‘ 25 *
Product Size Material | Thickness |Quantity o i <
Box 145*54 | 6063AL 25 2 N g
End Panel| 145*54 |5052AL | 12-15 2 y
Screw M4 iron 6 8 - 2
140,2




PB024 145*68-Length

PB024b

PB025 145*82-Length

PB026 147*41-Length

PB027 147*55-Length

145*68-Length

P UMAYEES

Unit: mm
145
. . 140
Structure:Split Extrusion Enclosure
List: o o s
Product Size Material | Thickness |Quantity
Box 145*68 | 6063AL 2.5 2 %
End Panel| 145*68 | 5052AL | 12-15 2 2
Screw M4 iron 6 8
Unit: mm
145
Structure:Split Extrusion Enclosure 140
List: oV o o Tuarg R
Product Size Material | Thickness |Quantity o
Box | 145%8 | 6063AL| 2.5 2 |8 NL R
End Panel| 145*68 | 5052AL | 12-15 2 2 |
Screw M3 iron 6 8 b g
Ay 4:—\_—1‘—:—1
f
25 1357
140
Unit: mm
145
140
Structure:Split Extrusion Enclosure 4_5;
List: M4’8
Product Size Material | Thickness |Quantity
Box 145%82 | 6063AL 2.5 2 | 2 Zr %
End Panel| 145*82 | 5052AL | 12-15 2 A
Screw M3 iron 6 8 1 AR
(a2}
N 5
:
Unit: mm
118
Structure:Split Extrusion Enclosure 113,4
List: =
3,4 *
Product Size Material | Thickness |Quantity ~ 22 5o | ~
Box 147*41 | 6063AL 32 2 g 18 g %
C
End Panel| 147%41 | 5052AL | 1215 | 2 - S
Screw M2.5 iron 6 8 115.2 ]
147
Unit: mm
' . 117
Structure:Split Extrusion Enclosure L |
. 2,9 0
List: S
Product Size Material | Thickness |Quantity g" % 2.2
8l I
Box 147*55 | 6063AL 2.8 2 rB' 2,2
End Panel| 147+55 | 5052AL | 12-15 2 8-M2.5%8MM r x o il
Screw M2.5 iron 6 4 1j|3
115,2
147




152*44-Length

~

160*94-Length

&

168*54-Length

204*48-Length

147*55-Length ~ Unit: mm

Structure:Split Extrusion Enclosure
List:

P UMAYEES

PN
% o)
<
N
© ©
o 3
<t LO_LO
o
™
A

Product Size Material | Thickness |Quantity
Box 147*55 | 6063AL 2.8 2

End Panel| 147*55 |5052AL | 12-15 2
Screw M2.5 iron 6 4
Unit: mm

Structure:Split Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity

fin_ren_n
40
44

Box 152*44 6063AL 2 2

End Panel| 152*44 |5052AL | 12-15 2

Screw M3 iron 6 8
Unit: mm

Structure:Split Extrusion Enclosure
List:

1552

Product Size Material | Thickness |Quantity

Box 160*94 | 6063AL 24 2

End Panel| 160%*94 | 5052AL | 12-15 2

Screw M3 iron 6 8
Unit: mm

Structure:Split Extrusion Enclosure
List:

g

693
89
938

1355

168

163

Y

nry

X
@ g uud
4
54

Product Size Material | Thickness |Quantity
Box 168*54 | 6063AL 53 2

End Panel| 168*54 | 5052AL | 12-15 2
Screw M4 iron 6 8
Unit: mm

Structure:Split Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity

Box 204*48 | 6063AL 3.8 2

End Panel| 180*48 | 5052AL | 12-15 2

Screw M3 iron 6 8

180

“ annnnnnr

E% JUL_N
38
417
48




P UMAY EES

PB032 52G-Length  Unit: mm

Structure:Split Extrusion Enclosure

List:
2146
10, | 194,6 |
Product Size Material | Thickness |Quantity = ] =
Box 214.6*52 | 6063AL 2 2 :g_tia 197,6 zj‘z g 9
=Ll)”' Jz
End Panel| 214.6*52 | 5052AL | 12-15 2 =l =
Screw M3 iron 6 16 1896
PB033 229*35G-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
2042
Product Size Material | Thickness |Quantity M‘ :2:: B
Box 229%35 | 6063AL | 25 2 o |
End Panel| 229*35 | 5052AL | 12-15 2 U
Screw M3 iron 6 8
PB033b 235*35G-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity e 05
1 1949
Box 235%35 | 6063AL | 15 2 4 85 |
End Panel| 235+35 | 5052AL | 12.15 2 gﬁq ﬁé a{ﬂ
Screw M3 iron 6 8 ! .y ‘ ‘
PB034 234*80.6-Length  Unit: mm

Structure:Split Extrusion Enclosure
List: Wt
Product Size Material | Thickness |Quantity gm
Box | 234+80.6 | 6063AL | 25 2 3 4 e
End Panel| 234*80.6 | 5052AL | 12-15 2 c,; 1% E
Screw M3 iron 6 8 S 190 ‘
234
PB034b 234*80.6-Length  Unit: mm
Structure:Split Extrusion Enclosure .
List: §—
Product Size Material | Thickness |Quantity { . A
Box | 234°80.6 | 6063AL | 25 > F ] N
b= ol 189 g
End Panel| 234%80.6 | 5052AL | 12-15 | 2 il -
AP
Screw M3 iron = =3
° 8 = ‘




PB0O40 55*25-Length

PUMAY,

PBO41

PB042 66*36-Length

PB043 69*27-Length

PB044 73*30-Length

65*22-Length

P UMAY EES

Unit: mm
55
Structure:Split Extrusion Enclosure
List: < 5 o
*
Product Size Material | Thickness |Quantity W
Box 5545 | 6063AL | 2.2 2 e Y
o~
End Panel| 55*25 | 5052AL | 12-15 2
Screw M3 iron 6 8 < ﬂ<
O CH y,
50.9
Unit: mm
Structure:Split Extrusion Enclosure 65
. 58,6
List:
Product Size Material | Thickness |Quantity S\J W
Box 6522 | 6063AL | 16 2 © Qo
N
End Panel| 65*22 | 5052AL | 12-15 2 T
Screw M2 iron 6 8 ]
55
Unit: mm
66
. . 2
Structure:Split Extrusion Enclosure g‘.,s
. | . |
List: f\} 2
©
Product Size Material | Thickness |Quantity -~
Box 66*36 6063AL 16 2 16 o<
End Panel| 66*36 | 5052AL | 12-15 2 et
Screw M3 iron 6 8
L
< 3
C
Unit: mm
69
Structure:Split Extrusion Enclosure gg
List:
“ g
Product Size Material | Thickness |Quantity f 0 Wﬁ
Box 69*27 | 6063AL | 15 2 | - 3
End Panel| 69*27 | 5052AL | 12-15 2
Screw M3 iron 6 8 %1 rg
o
™
Unit: mm
Structure:Split Extrusion Enclosure 739
List: ¥ 67.5 - M2 .5*8
™ 1,8 )
Product Size Material | Thickness |Quantity s 3@ ©
Box 7330 | 6063AL | 15 2 i 67.6 i3 o
End Panel| 73*30 | 5052AL | 12-15 2 o, K
Screw M3 iron 6 8 i 63,9 T
70,1




PB0O40 55*25-Length

PUMAY,

PBO41 65*22-Length

PB042 66*36-Length

PB043 69*27-Length

PB044 73*30-Length

P UMAY EES

Unit: mm
55
Structure:Split Extrusion Enclosure
List: < 5 o
*
Product Size Material | Thickness |Quantity W
Box 5545 | 6063AL | 2.2 2 e Y
o~
End Panel| 55*25 | 5052AL | 12-15 2
Screw M3 iron 6 8 < ﬂ<
! =] J
50.9
Unit: mm
Structure:Split Extrusion Enclosure 65
. 58,6
List:
Product Size Material | Thickness |Quantity S\J W
Box 6522 | 6063AL | 16 2 © o
- ~ Y
End Panel| 65*22 | 5052AL | 12-15 2 T
Screw M2 iron 6 8 ]
55
Unit: mm
66
. . 2
Structure:Split Extrusion Enclosure g‘"g
. | . |
List: f\} 2
©
Product Size Material | Thickness |Quantity -~
Box 66*36 6063AL 16 2 16 o<
End Panel| 66*36 | 5052AL | 12-15 2 et
Screw M3 iron 6 8
L
< 3
C
Unit: mm
69
Structure:Split Extrusion Enclosure gg
List:
” g
Product Size Material | Thickness |Quantity f 0 Wﬁ
Box 69*27 | 6063AL | 15 2 | - 3
End Panel| 69*27 | 5052AL | 12-15 2
Screw M3 iron 6 8 %1 rg
o
™
Unit: mm
Structure:Split Extrusion Enclosure 739
List: ¥ 67.5 - M2 .5*8
1.5 )
Product Size Material | Thickness |Quantity 3@ ©
Box 7330 | 6063AL | 15 2 i 67.6 i3 o
End Panel| 73*30 | 5052AL | 12-15 2 o, K
Screw M3 iron 6 8 i 63,9 T
70,1

10




P UMAY EES

PB045 74*30-Length  Unit: mm

- 74 -
Structure:Split Extrusion Enclosure 70
. & - 67.5
List: o o
Product Size Material | Thickness |Quantity 3. E g : NS 3.
- R 1 B
Box 74+30 | 6063AL 15 2 i :A‘_.Lu%‘ } iy
End Panel| 74*30 | 5052AL | 12-15 2 "'r_)-‘ 0.9 jﬂ- 0.;3 4 1
Screw M2 iron 6 8 = .26

PB0O46 76*60-Length  Unit: mm
75,9
‘ | 711
Structure:Split Extrusion Enclosure (L@ 79
List: 66,1
Product Size Material | Thickness |Quantity
Box 76*60 6063AL 1.9 2 8 ht 8‘ 2—
End Panel| 76*60 | 5052AL | 12-15 2 © ®
Screw M3 iron 6 8 25 3.9
2
| 68,6
PB047 78*26-Length  Unit: mm
Structure:Split Extrusion Enclosure 78
List: 70
Product Size Material | Thickness |Quantity 3 18 1,5 M2.5*8 4
Box 78*26 6063AL 15 2 ™ ©
NN
End Panel| 78*26 | 5052AL | 12-15 2
Screw M3 iron 6 8 E‘ 4 s
PB048 79.5*47-Length  Unit: mm
Structure:Split Extrusion Enclosure - T .
" List: — 2 S|
b Product Size Material | Thickness |Quantity ‘ )
Q
Box 79.5%47 | 6063AL 17 2 :ﬁ:E: % 4
End Panel| 79.5%47 | 5052AL | 12-15 2 & w 76,47 7
Screw M3 iron 6 8 g. 76
N
T 79,6 |
PB049 80*27-Length  Unit: mm
Structure:Split Extrusion Enclosure qag
List:
Product Size Material | Thickness |Quantity 47%
Box 8027 | 6063AL| 15 2 18 L
End Panel| 80*27 | 5052AL | 12-15 2 - &
Screw M3 iron 6 4 Lt 5
102

11



PBO50 81*24-Length

o

PBO51 105*28-Length

-

PB0O52 84*24-Length

e

PBO53 86*42-Length

PB054 88*47-Length

P UMAY EES

Unit: mm
Structure:Split Extrusion Enclosure 80.6
. 1.8
List:
-
Product Size Material | Thickness |Quantity Jév 5
3,5 1,7 =
Box 81*24 6063AL 1.8 2 L FL © o~
End Panel| 81*24 |5052AL | 12.15 2 % | co't
9,0 70
Screw M2.5 iron 6 8 74
77
Unit: mm
Structure:Split Extrusion Enclosure
List: @ 0
T |
Product Size Material | Thickness |Quantity F
Box 105*28 | 6063AL 15 2 .5; 5| 1
End Panel| 105*28 | 5052AL | 12-15 2
Screw M3 iron 6 8 - -
Unit: mm
Structure:Split Extrusion Enclosure 62
List: 56
Product Size Material | Thickness |Quantity = . 5
Box 84%24 | 6063AL | 16 2 W 9 g
~ N
End Panel| 84*24 | 5052AL | 12-15 2 T e
Cj CD
Screw M2.5 iron 6 8 L
50.6
84
Unit: mm
86
Structure:Split Extrusion Enclosure 7236
List:
Product Size Material | Thickness |Quantity -g ISZL':'SLES/(?L
Box 86*42 6063AL 15 2 i‘ ,j
End Panel| 86*42 | 5052AL | 12-15 2 ﬂA 2 {;% <
Screw M3 iron 6 8 E g
[Te)
& o
Unit: mm

Structure:Split Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 88*47 6063AL 16 2
End Panel| 88*47 | 5052AL | 12-15 2
Screw M2.5 iron 6 8

12

42,7
47




P UMAY EES

PBO55 90*50-Length  Unit: mm

Structure:Split Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity

Box 90*50 6063AL 16 2

End Panel| 90*50 | 5052AL | 12-15 2

Screw M3 iron 6 8

PB0O56 98*25-Length  Unit: mm

Structure:Split Extrusion Enclosure

. 98
List: 94
tepy Product Size Material | Thickness |Quantity S >
Wt Box 9825 | 6063AL | 18 2 1 2 < :M M
0 N N
End Panel| 9825 |5052AL | 12-15 > | 2 1.8 I
Screw M3 iron 6 8 il 7% -
92
PBO57 105*30-Length  Unit: mm
St . : : 105
ructure:Split Extrusion Enclosure
. 100,4
List: 98
Product Size Material | Thickness |Quantity T
Box 105*30 | 6063AL 19 2 1.8 N 19 o
End Panel| 105*30 |5052AL | 12-15 2 8. “
Screw M3 iron 6 8 [fe] ),
PBO58 110*58-Length  Unit: mm
' . 110
Structure:Split Extrusion Enclosure 108
List:
*
Product Size Material | Thickness |Quantity F 2 MS—B/?
Box 110*58 | 6063AL 2 2 P 1.8 : < o
End Panel| 110*58 | 5052AL | 12-15 2 19
Screw M3 iron 6 8 E,‘ ? © j

PBO59 112*30-Length  Unit: mm

Structure:Split Extrusion Enclosure 106.3
_— 105,3
List: | 100.9 38
Product Size Material | Thickness |Quantity 74:}[: %
Box 112*30 | 6063AL 1.8 2 # i f el i:'&;
1 o
End Panel| 112#30 | 5052AL | 12-15 2 4 i\ N | =1
Screw M3 iron 6 8 2 108,3
112,3

13



P UMAY EES

PBO60 131*27-Length  Unit: mm

Structure:Split Extrusion Enclosure 107.2
List: 1024
1 5 *

Product Size Material | Thickness |Quantity g‘l F 13 M3*8 ‘% o <

~N AN| M~

Box 131%27 | 6063AL | 15 2 = 1o
End Panel| 131%27 | 5052AL | 1215 | 2 \ 100,2
Screw M3 iron 6 8 131,5

PBO61 136*64-Length  Unit: mm

136

1312
127,2

Structure:Split Extrusion Enclosure

List: 42

Product Size Material | Thickness |Quantity

Box 136*64 | 6063AL 2.2 2

End Panel| 136*64 | 5052AL | 12-15 2

Screw M3 iron 6 8

PB062 138.5*57-Length  Unit: mm

118,8

) _ 100,7

Structure:Split Extrusion Enclosure 956
List: = 904 =

Product Size Material | Thickness |Quantity

Box 138.5*57 | 6063AL 1.5 2

51
57,5

End Panel| 138.5*57 | 5052AL | 12-15 2

Screw M3 iron 6 8 2 S

138,8 ]\

PB063 142*45-Length  Unit: mm

Structure:Split Extrusion Enclosure 142
(I 136
List: 2x8
AN \2
Product Size Material | Thickness |Quantity FJ © ),\
~— le] 3 0
Box *, 6063AL y = Fl
142*45 18 2 |g NS 3
End Panel| 142*45 | 5052AL | 12-15 2 fuf F
Screw M2.5 iron 6 8 3 ]? A
133,2
PB064 147*36-Length  Unit: mm
Structure:Split Extrusion Enclosure 118
List: 1134
I
Product Size Material | Thickness |Quantity 22 59 3 * ©
© 9.2 o)
X o)
Box 147*36 | 6063AL 3 2 g I g &
End Panel| 147%36 | 5052AL | 12-15 2 J
Screw M2.5 iron 6 8 115,2
147

14



P UMAY EES

PBO65 150*46-Length  Unit: mm

150
Structure:Split Extrusion Enclosure 145,2
List: ‘ 1‘42’2 ‘
Product Size Material | Thickness |Quantity 2 MSLB/lJE
Box 150*46 | 6063AL 2 2 g (el
End Panel| 150%46 | 5052AL | 12-15 2 1.7 )
Screw M3 iron 6 8 0

PBO66 168*41-Length  Unit: mm

Structure:Split Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity ©
Box | 168*41 | 6063AL | 3 2 @
End Panel| 168*41 |5052AL | 12-15 2
Screw M3 iron 6 8 136.2
168
PBO67 50*21-Length  Unit: mm
Structure:Split Extrusion Enclosure
List: 1;2
|
Product Size Material | Thickness |Quantity 3 éﬁ
Box 178*50 | 6063AL 2.5 2 I Ty 8
End Panel| 178*50 | 5052AL | 12-15 2 j\v
Screw M3 iron 6 8
PB068 178*52-Length  Unit: mm
Structure:Split Extrusion Enclosure 1783
List: 1z
Product Size Material | Thickness |Quantity gﬁ S !
Box 178*52 | 6063AL 2.7 2 o ™|
End Panel| 178*52 | 5052AL | 12-15 2 | ¥8
Screw M3 iron 6 8 ,f =
LY
PB069 190*46-Length  Unit: mm
Structure:Split Extrusion Enclosure
. 161,5
List:
Product Size Material | Thickness |Quantity * o
<| |
Box 190*46 | 6063AL 28 2 %— Q
End Panel| 190*46 | 5052AL | 12-15 2 =

Screw M3 iron 6 8

15



P UMAY EES

PBO70 200*60-Length  Unit: mm

Structure:Split Extrusion Enclosure fgg
List: 175
Product Size Material | Thickness |Quantity N4 M3*8 el
Box 200%60 | 6063AL 4 2 4 0 o p
N [ap)
End Panel| 20060 | 5052AL | 1215 | 2 Y
Screw M3 iron 6 8 =Y

PBO71 240*77-Length  Unit: mm

Structure:Split Extrusion Enclosure e
List: |
Product Size Material | Thickness |Quantity ; ’ a §
Box | 240+77 | 6063AL| 5 > 5 &
End Panel| 24077 | 5052AL | 1215 | 2 = H
Screw M3 iron 6 8 ‘ ‘ " ‘

PBO72 162*73-Length  Unit: mm

Structure:Split Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 162*73 6063AL 17 2
End Panel| 162+*73 | 5052AL | 12-15 2
Screw M3 iron 6 8

PBO73 105*44-Length  Unit: mm

99,6
98

Structure:Split Extrusion Enclosugges«g

. " 75
List: S%\ F’
|
Product Size Material | Thickness |Quantity 99 <
Box 105*44 | 6063AL 17 2 A &= 1.8 hn 3
|
End Panel| 105*44 | 5052AL | 12-15 2 [
. T o
Screw M3 iron 6 8 — o 0
g ~
100,8
105
PB074 122*40-Length  Unit: mm
Structure:Split Extrusion Enclosure 2201
List:
& ® Product Size Material | Thickness |Quantity
5 . Box 122*40 | 6063AL 2 2 %
End Panel| 122*40 | 5052AL | 12-15 2 =
Screw M3 iron 6 8 0o

16



P UMAY EES

PBO75 128*37-Length  Unit: mm
Structure:Split Extrusion Enclosure 1977
List: 5.7 1
Product Size Material | Thickness |Quantity ~
Box 128*37 | 6063AL 1.8 2 18 5
End Panel| 128*37 | 5052AL | 12-15 2 pofd I N
o
Screw M3 iron 6 8 L|20,5
122,7
PBO76 142*33-Length  Unit: mm
Structure:Split Extrusion Enclosure 4o
List: M3*8 1§|792 l
Product Size Material | Thickness |Quantity kg
Box | 142433 | 6063AL| 2 > & # R
End Panel| 142*33 | 5052AL | 12-15 2 u —
Screw M3 iron 6 8 113 15,8
PBO77 144*65-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity
Box 144*65 6063AL 1.7 2
End Panel| 144*65 | 5052AL | 12-15 2
Screw M3 iron 6 8
PB078 52&F#l#E-Length  Unit: mm
Structure:Split Extrusion Enclosure
List: 158 .
§ M3*8
Product Size Material | Thickness |Quantity 2
Box /  |eoe3aL| 17 2 T é %2
End Panel / 5052AL | 1.2-15 2 ‘g ot
Screw M3 iron 6 8 ~T 5 :{g%
PBO79 150*66-Length  Unit: mm
Structure:Split Extrusion Enclosure 128
List: T MA*E ?j
Product Size Material | Thickness |Quantity
[0} ﬁ 0]
Box 150*66 | 6063AL 2 2 3l 0] Il
] o X ©
End Panel| 150%66 | 5052AL | 12.15 | 2 oo
- 2,200 -
Screw M4 iron 8 8 N
3 137 3
138

17




P UMAY EES

PBO80 169*86-Length  Unit: mm

Structure:Split Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity
Box 169*86 | 6063AL 2.1 2
End Panel| 169*86 | 5052AL | 12-15 2

Screw M3 iron 6 8

PB081 170*26-Length  Unit: mm

Structure:Split Extrusion Enclosure

List: 150
- - - - 1449
Product Size Material | Thickness |Quantityy| > 5% 8 ‘ 70 . 70 )
Box | 170726 | 6063AL | 2 5 g{ < B e rRER
End Panel| 150%26 | 5052AL | 1215 | 2 = s e
Screw M3 iron 6 8 170
PB082 178*62-Length  Unit: mm
Structure:Split Extrusion Enclosure 1785
List: M3*alL RECH :
,F - g
Product Size Material | Thickness |Quantity ‘l—&
PUMpy. = S
- g Box 178%62 | 6063AL | 23 2 IV }@ = 171,8 i :-%
b 0
e End Panel| 178*62 | 5052AL | 12-15 2 g2t | gm 23 j 0
Screw M3 iron 6 8 = mg ; 67“_: [M
PB083 110*40-Length  Unit: mm
Structure:Split Extrusion Enclosure
[ 110
List: 102,3 M3*8
Product Size Material | Thickness |Quantity fn
Box 110*40 | 6063AL 2 2 2 %‘ g
End Panel| 110%40 | 5052AL | 12-15 2 N 3
I
Screw M3 iron 6 8 ‘ : 1006 RT
PB084 180*34-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
180
Product Size | Material | Thickness |Quantity| | 175,6 | M3*8
Box 180*34 | 6063AL 2 > 4 172 A
End Panel| 180%34 | 5052AL | 12-15 2 ‘; ﬁ | (St g‘ g
Screw M3 iron 6 8 = Y

18



P UMAY EES

PBO85 190*72-Length  Unit: mm

Structure:Split Extrusion Enclosure

List: e
Product Size Material | Thickness |Quantity i i
Box 190*72 | 6063AL 3 2 ) 9 g
= b
End Panel| 160.572 | 5052AL | 12-15 | 2 ’ Al
Screw M3 iron 6 8 152 ‘
190 ©
PB086 120*103-Length  Unit: mm
. . 120.
Structure:Split Extrusion Enclosure it
o ]
List: o
Product Size Material | Thickness |Quantity j
Box 120*103 | 6063AL 21 2 » 94,40 97.83 103.00
End Panel| 120%103 | 5052AL | 12-15 2
Screw M3 iron 6 8
e = WO . |
PBO87 89*89-Length  Unit: mm
Structure:Split Extrusion Enclosure e e,
List:
Product Size Material | Thickness |Quantity < QI 5
Box | 89.6*893 | 6063AL | 2 2 g [
End Panel| 89.6*89.3 | 5052AL | 1.2-15 2
Screw M3 iron 6 8 2.0 3 J
?"lnn l'\_I'LrS
5. 1
PB088 120*35-Length  Unit: mm
Structure:Split Extrusion Encl 2 .
Dp usion enclosure 1 80,4 1 M3*8
LiSt: %\ﬂ-l'u 2‘ uu/'
5 81 w9
Product Size Material | Thickness |Quantity ‘éL E 8 3!
Y Box 120435 | 6063AL | 2 2 % o N
‘Wo End Panel| 90+35 | 5052AL | 12.15 | 2 85
Screw M3 iron 6 8 e

PB0O89 89*60-Length  Unit: mm

Structure:Split Extrusion Enclosure
List:

Product Size Material | Thickness |Quantity

= Box 89*60 6063AL 2 2 )

1 End Panel| 89*60 5052AL | 1.2-15 2 b
Screw M3 iron 6 8 Y }‘ B

/ )

r‘& o“J

995 ]

19



P UMAY EES

PBO90 190*44.5-Length  Unit: mm

Structure:Split Extrusion Enclosure

List: 190
2 186
Product Size Material | Thickness |Quantity R AaRaisisiaininiaininininisiainininintstatal
Box 190*44.5 | 6063AL 3.9 2 N o S. g L
End Panel| 190%44.5 | 5052AL | 12.15 | 2 IR ® ?r 39,6 N [
Screw M3 iron 6 8 S g g E iR Ep i i g g Ry
PB0O91 136*30-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
136
Product Size Material | Thickness |Quantity 132
Box 136*30 | 6063AL 17 2 I . 1,7
End Panel| 136%30 |5052AL | 12.15 | 2 &KL i\MM
Screw M3 iron 6 8
PB092 150*67-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
Product Size Material | Thickness |Quantity ©
Box 15067 | 6063AL 2 > 3
End Panel| 15067 | 5052AL | 12-15 2
Screw M3 iron 6 8
PB093 96*33-Length  Unit: mm
. . 95,8
Structure:Split Extrusion Enclosure 92.4
List: 86,2
Product Size Material | Thickness |Quantity ~
Box 95.8*33 | 6063AL 1.7 2 2,1 &7" 2.1 8
End Panel| 95833 |5052AL | 12-15 2 1.7
Screw M3 iron 6 8 1L 2} nnh ©

Fl:-

PB094 107*47.3-Length  Unit: mm

Structure:Split Extrusion Enclosure

List:
f
Product Size Material | Thickness |Quantity E
Box 107*47.3 | 6063AL 2.1 2 |
End Panel| 107+47.3 | 5052AL | 12-15 2
Screw M3 iron 6 8

20



P UMAY EES

PB096 180*51-Length  Unit: mm

Structure:Split Extrusion Enclosure

List: ‘—2—1%%—1
M3*8 j— sy
Product Size Material | Thickness |Quantity WUE ?J S
0
Box 180*51 | 6063AL 2 2 G E ﬁd;
& ? 4.7 <
End Panel| 150*51 | 5052AL | 12-15 2 = N =
Screw M3 iron 6 8 f 1458
150
180
PB097 250*52-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
2278
Product Size Material | Thickness |Quantity PN NNy
Box 250%*52 | 6063AL 2 2 ors = o g
End Panel| 250*52 | 5052AL | 12-15 2 .
Screw M3 iron 6 8 50 ‘
A -
PB098 28&F#l#E-Length  Unit: mm
Structure:Split Extrusion Enclosure
List:
- - - 200
Product Size Material | Thickness |Quantity
Box | 20030 | 6063AL| 25 2 S ] 2 J
End Panel| 200%30 | 5052AL | 12-15 2 & ‘]
Screw M3 iron 6 8 I :l[gg I
PB099 147*61-Length  Unit: mm
Structure:Split Extrusion Enclosure
List: 1085
= Product Size Material | Thickness |Quantity ‘7
e Box 147*61 | 6063AL 25 2 6.1 e <
“'\\\ End Panel| 117.7%61 | 5052AL | 12-15 2
o 7 Screw M3 iron 6 8 #B

PB100 131*54-Length  Unit: mm

Structure:Split Extrusion Enclosure

List:
Product Size Material | Thickness |Quantity
Box 131*54 | 6063AL 1.8 2
End Panel| 107.2*54 | 5052AL | 12-15 2
Screw M3 iron 6 8

21



PB101 180*58-Length  Unit:

mm

Structure:Split Extrusion Enclosure

List:
\ Product Size Material | Thickness |Quantity
! Box 180*58.4 | 6063AL 2.5 2
End Panel| 150*584 | 5052AL | 12-15 2
\\‘\\\ Screw M3 iron 6 8

22

P UMAYEES

H;SB,«J%

1
[




19 Inch Rackmount Chassis

19 sEItRELRHE

PUMAYEE

19 Inch Rackmount Chassis

19K SR ENAE IR ALAE

==

19Inch Rackmount Chassis
The utility model is composed of top and bottom panel + 2side panel+1 front panel + 1 back panel +
corner +screw

Size : 1u/ 1.5u /2u/ 3u /4u
Advantages: The 19 inch Rackmount chassis Light, beauty and easy install to the cabinet

19 FETERINFE -
Hpk: HETENR, BIEER, £ZAaNiR 6 3o HEMK.
R~ : IB=2E 1u/1.5u /2u/ 3u /4u

19 ILTEEREESE, LEOE, SRR, BUAMERET.



Structure 19inch Stripe Rackmount box series
Scope of Supply

PUMAYEES

PD001 Stripe Rackmount box series

Front Panel

Back Panel

Side Panel

Top & Bottom

L-corner

Screws

1pcs

1pcs

2pcs

2pcs

8pcs

M3*6 44pcs

Note Customized Process

1. Color

2. Freedom Length & Width Size

3. Cut Holes
4. Logo Print

PDO001 1u Stripe chassis

Unit: mm

PDO01

1.5u Stripe chassis

Unit: mm

432

313

432

4235

313

* I
£

67




PUMAYEES

PD001 2u Stripe Chassis Unit: mm

10.5

«

PD001 3u Stripe Chassis Unit: mm

432

335

1

482

1335
| —T1
4




PUMAYEES
PD002 Flat Rackmount box series

Structure: 19Inch Flat Rackmount Box

Scope of supply:
Front Panel Back Panel Side Panel Top&Bottom Panel L corner Screws
1pcs 1pcs 2pcs each 1pcs 8pcs M3*6 44pcs

Note Customized Process

1. Color

2. Freedom Length & Width Size
3. Cut Holes

4. Logo Print

PD002 1u Flat Side Chassis Unit: mm

461 4

o

482
dah

PD002 1.5u Flat Side Chassis Unit: mm

585 _

0 U}
Fooal

__SJL_t




PD002 2u Flat side Chassis

PD001 3u Flat side chassis

PD001 4u Flat Side Chassis

1335

I

Unit: mm

432

320

16
=l
3
-~

T

482

Unit: mm

133,5

320

o
Unit: mm
432 35
\ |}
3 t]
%\% 320 o) q
482 165
: =
,:fj 5
J} 451




PUMAYEES

PD003 Heatsink Rackmount box series

Structure: 19 Inch Heatsink Rackmout Box

Scope of supply:
Front Panel Back Panel Side Panel | Top&Bottom Panel L corner Screw
1pcs 1pcs 2pcs each 1pcs 8pcs M3*6 44pcs

Note Customized Process

1. Color

2. Freedom Length & Width Size
3. Cut Holes

4. Logo Print

PD003 1u Heatsink Rackmount case Unit: mm

432

Ts247]]
I

304 [
mvl

&
L 48 o1
7

14,8

482




PD003 1.5u Heatsink Rackmount case

PD003 2u Heatsink Rackmount case

Unit: mm

432

PUMAYEES

415 67
‘ 4943#5

482
461

]

Unit: mm

432




PUMAYEES
PEQO01 42Holes Instrument chassis series

Structure: 42 Holes Instrument chassis

Scope of supply:
Front Panel |Back Panel| Side Panel | Top&Bottom Handle L corner Screw
1pcs 1pcs 1pcs each 1pcs 2pcs 4pcs M3*6 28-40 pcs / M3*10 8 PCS

Note Customized Process

1. Color

2. Freedom Length & Width Size
3. Cut Holes

4. Logo Print

PEOO1 2u42 holes box Unit: mm

88
62,2 —
® IR
%::Fe@
.88 | |

;(&%
50 E
=z
H . f "
LA:_LL
70

PEOO1 3u42 holes box Unit; mm

l 215

{4

4Q 1239 :m)I
| s A i S
[@EU oo 3 T
[ﬂ[ y S 1%

L8 [ ]

10



PUMAYEES

PE002 64Holes Instrument chassis series

Structure: 64Holes Instrument chassis series

Scope of supply
Front Panel [Back Panel|Side Panel |Top&Bottom Handle L corner Screw
1pcs 1 pcs 2pcs each 1pcs 2 pcs 4pcs M3*6 28-40 pcs /M3*10 8 PCS
Note Customized Process
1. Color _ _
2. Freedom Length & Width Size
3. Cut Holes
4. Logo Print

PEOO2 2u64Holes Instrument chassis series Unit: mm

33
‘ [ 327

88
62,2
-} -
=
22

784

R RIRETX]

] =) = M=
%»%ﬂ | 3126 L @ E
j [ 296.6 ‘%flg
PEOO2 3u64 holes Instrument chassis series Unit: mm
\ o
J’
4? 1239 Et
HE %* ‘ o I i B
o e grat
1 0 |l N c—
.3

283.4

11



PUMAYEES
PEO03 84Holes Instrument chassis series

Structure: 84Holes Instrument chassis

Scope of supply
Front Panel| Back Panel Side Panel | Top&Bottom Handle L corner Screw
1pcs 1 pcs 2pcs each 1pcs 2 pcs 4pcs M3*6 28-40 pcs /M3*10 8 PCS
Note Customized Process
1. Color
2. Freedom Length & Width Size
3. Cut Holes
4. Logo Print
PEOO3 2u84Holes Instrument chassis series Unit: mm
—ft
. i
? 435 ? m
445 j
f
L»R- o| llj: ) - QPJ :I ‘
4206 .
PEOO3 3u84Holes Instrument chassis series Unit: mm
‘ 431 ‘* —
4 LY
N 9 123.9 g
445 “1 1335
{
.lﬂg % o JJ‘ Li"‘ i ;“ | 3
| I 1
= =

12



P UMAY EE3
PEOO4 Instrument Chassis Box

Structure: Splice chassis

Front Panel Back Panel Side Panel |Top &Bottom Panel Screw

1pcs 1pcs 2pcs each 1pcs M3*6 8pcs

Note Customized Process

1. Color

2. Freedom Length & Width Size
3. Cut Holes

4. Logo Print

PEO04 235W*35H-L Unit: mm
205

35
|
o1 |
28,8
25
N
6‘ [ ple
I *

i 196,3 |
235

il

i
il

Bl

122

PEO04 292W*45H-L Unit: mm

=2

s
I
3
6
25
2
"
{ 332 {
38.8
45

<T>:1




PUMAYEES

PEO04 246W*55H-L Unit: mm

o oo

PEOO4 266W*65H-L Unit: mm

236

2259
1
5=
JI= 28 _
i ' 2259 i

=TeEy
D

PEOO4 256W*75H-L Unit: mm

226

& —3
i
o
b
o @
3 g.
) g g
10
™
AL
f:x;’
2159 J
a
256
255
2

168.4




P UMAYEES

Aluminum Handle H#IFEU4

I
PrUMAYEES

1u/2u /3u/4u/5u/6u industry chassis handle

1u/2u /3u/4u/su/eu TR T

LS ,\”\m\\\ '




2-M4e15MM

PUMAYI]
PLOO01 Aluminum Elliptical handle {88 SR AT

>

@ AR
Hole Size
. fL 9 |

ltem 32PD 64PD 90PD 100PD | 114PD | 128PD | 140PD | 150PG | 203PD
PD 32 32 32 64 90 90 100 14 128 140 150 203
Height | 25 25 35 35 35 40 35 35 35 35 35 35
Thread | M4 | M3 | M4 M4 M4 | M4 M4 M4 M4 M4 M4 M4
Marks:
PD means Pitch distance Size : mm Stock Color: Sandblast Silver / Black
Height and width can be customized.

S | 329LEE  |64FLEE| 90FLEE |100FLER |114FLFE |128FLER |140FLEE |152FLEE | 203FLER
FLEE [32]32(32| 64 |90 |90 | 100 114 128 140 150 203
mE |25]|25(35| 35 |35(|40| 35 35 35 35 35 35
BESL (M4 | M3 |M4 | M4 M4 | M4 M4 M4 M4 M4 M4 M4
7E:

1 A7 : mm 2. BIee g il

3. B8 B 1l

5. MRYEER, WRMEEIAINT

4 WRHPEER, WHRAEEFLIN T




PL0O02 Aluminum Round handle

PUMAYE

EaEEALF

(®)

M4 54T

-

| TLEE
Item 96PD 128PD 160PD 192PD
PD 96 128 160 192
Height 29 29 29 29
Thread M4 M4 M4 M4
Marks:
PD means Pitch distance Size : mm Stock Color: Sandblast Silver / Black
Height and width can be customized.
2R 96fL#E 1284LE0 1604LEE 1924LeE
FLEE 96 128 160 192
= 29 29 29 29
24y M4 M4 M4 M4
VAo
1. .47 : mm 2. B x|

3. K 5 B e 4. RIEZER, niRHLESFLINT

5. MRIEER, AIERHLENFINT



P UMAYE

PLOO03 Stainless steel folding industrial handle A&ENITFSHhiF

9 -
4 ‘W
2
11| laol
16 4@ |
et R -
ERY SRk - -1 T B . i
e —— —
10 &2 n8 L 5@ (R
FLEEL
Item 90PD 100PD 120PD 130PD 135PD 150PD 180PD
PD 90 100 120 130 135 150 180
Height 40 40 40 40 40 40 40
Thread M10 M10 M10 M10 M10 M10 M10
Marks:
PD means Pitch distance Size : mm Material: Stainless steel 304
2R 90 FLEE | 100 FLEE | 120 #LBE | 130 #LBE | 135 FLEE | 150 #LEE | 180 #LiE
90 100 120 130 135 150 180
FLEE
. 40 40 40 40 40 40 40
=2E
M10 M10 M10 M10 M10 M10 M10
1Ry
E OB mm FREKME: A5EHN 304

>




PUMAYE

www.pumay-aluminum.com
www.pumay-enclosure.com

FOSHAN PUMAY TECHNOLOGY CO. LTD f# 1L iyl ERHH A TR A 7
FOSHAN PUMAY ALUMINUM CO. LTD 1L il £ 40 A TR A ]
Tel: +86-15813615026 Email: info@pumay-aluminum.com

Manufacturing Add: NO 25 Hegui Road, Hegui A Industry, Lishui Town,Nanhai District,Foshan City,
Guangdong ,China

J ik A T R X B K BEATRE Tk el A ORI KIE 25 5 B #R



http://www.pumay-aluminum.com
mailto:info@pumay-aluminum.com

